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A.F2E A FR2FA 1,561,617 1,192,344 369,273
AANASUSE FS AHEIEBM &Y 81,000 80,750 250
202 04| 59,400 59,400 0
04 = X3 bl 59,400 59,400 0
ORYHZ2RA i AS 1,080,000& x559 59,400
303 ZA& 3 21,600 21,350 250
01 2o 2 21,600 21,350 250
O=9@2 Y AMZH L42H AIND 7,600
— 22> 500,000& * 12 A *43] 2,000
-2 = 300, 000& *22 A x4 3] 2,400
-& A 200, 0003 *4 2 Al x43] 3,200
ORAMY 2H4+8 T2 TN 2% L
= 250,000& *56H 14,000
HAIU AlE 012t 29 342,029 335,076 6,953
307 QI2t0I ™ 342,029 335,076 6,953
05 QI2t2 &= 342,029 335,076 6,953
OFUE=RANER2Y 342,029,000& 342,029
2E LRFAS s HEHXA 72,720 80,718 AT7,998
201 L2 Y| 62,220 61,268 952
01 AR 22| I 60,000 59,048 952
OJIZII(EN=221) ¢ 7,000 *2,00004 &~ 14,000
O22AdnNs A 400,000& *23| 800
OAl.7EEE A 2 HE
100, 000 & *22H A *23] 4,400
ogsa L WA M 7,000 350 x12& 2,940
OAE YLETS 98 Y22
17,000,000& 17,000
OrZe HAZRI =4 2372 6,400
— s 200, 000& 51 x43| 4,000
- 28 20,000& *30H *43] 2,400
ORolFH 4| 500,000& x12& 6,000
Ol Z e 22 24| 120,000& = 12& 1,440
OFAMUE D] dXE 45,000 %13 x12& 7,020
02 352494l 2,220 2,220 0
oREe2 185,000& = 12& 2,220
203 ¥R =&H| 2,000 2,000 0
03 A =X R =XIH| 2,000 2,000 0
OXNASOtAIS 2L HREFX 2,000,000& 2,000
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401 Al HIZ 201 Y| 2,500 2,500 0
01 A& HI 2,500 2,500 0
OJtg¥ =J|Z0l0 B+ 25,0002 10004 2 2,500
405 RHoHE S HI 6,000 14,950 A 8,950
01 AL EFFHSHI 6,000 14,950 A 8,950
OAsIoa glolg EXH(UA) 300,000 *20HK 6,000
Y FH=EXE A N 146,725 122,750 23,975
201 Let24dy] 22,600 20,600 2,000
01 At 22l 10,200 10,200 0
OFUAE 2] 650,000& = 12& 7,800
oMt s 29| 200,000& 12 2,400
02 232gl 2,400 2,400 0
OFUAaE AIZEHl SXdl 200,000& 122 2,400
03 A2 Z Hl 10,000 8,000 2,000
OFozY =33 XA 500,000 x50 x4 3] 10,000
303 Z& 3 32,600 31,850 750
01 243 32,600 31,850 750
OX39 A58 & JIES 50,000& x652H 32,600
307 gl2tol & 84,825 66,300 18,525
07 A3 XN=3 84,825 66,300 18,525
OMZERS & Mol=2d EX3
3,393,000& »25H 84,825
405 XtAHE SHI 6,700 4,000 2,700
01 XL = ZH St 6,700 4,000 2,700
OFUAY Xte tHAICH(THA)
3,200,000 = 1CH 3,200
OMActe A HI[(THA) 3,500,000 «1CH 3,500
S ST QAt2e] 396, 156 356,190 39,966
101 @144 Hl 395,036 355,070 39,966
04 DI Z2XREES 395,036 355,070 39,966
OtiMee olg 357,600
—Jl=s 80,0003 15 x246 295,200
—s=52+E 80,0003 x 152 x52 62,400
OUNeH AHWEE s RFE= 37,436
— =00z R 357,600,000& *4.5% 16,092
—2dLE2E RYS 357,600,000& *3.23% 11,551
—EIRYEYE FE3 11,551,000& 7.38% 853
—UE2E B3 357,600,000& *1.5% 5,364
—MNEE 2YS 357,600,000 *1% 3,576
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NBASZ=XES A8 2tE3 M= 17,600 17,600 0
203 2R =AYl 17,600 17,600 0
03 Al =P R=AHI 17,600 17,600 0
OAIMF=& HRFAH| 17,600,000 17,600
EAD A L stEsS A A 9,350 7,700 1,650
201 2Bt2 | 6,650 5,000 1,650
03 A2 S HI 6,650 5,000 1,650
o=+ 323 MU 6,650,000& 13/ 6,650
303 L& s 2,700 2,700 0
01 2= 2,700 2,700 0
O=2g+ 322 HM=Ua A= 2,700
-® S 1,000,000 «18 1,000
—=25 700,000& * 18 700
-& 9 500,000& »2& 1,000
=Eg7E RE=xE 29 159,827 146,481 13,346
101 21248l 156,277 142,931 13,346
04 D12 H22 TS 2= 156,277 142,931 13,346
FEFIE 2 ARY 123,360
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— X4 80,0003 »4H 15 4,800
— S E =t 500,000& x4 x23 4,000
OJIZHMZ22X 428 & RE3 12,917
—=dd=s RE= 123,360,000& *4 . 5% 5,552
—HLEE RE= 123,360,000& *3.23% 3,985
—AJNRRLEE RES 3,985,000 *7.38% 295
— 1828 RE= 123,360,000& *1.5% 1,851
—MEE RES 123,360,000 = 1% 1,234
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01 At 22l bl 3,550 3,550 0
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OFXZLIHXZ ez 100,000& * 103l 1,000
A 2REF Mo 336,210 45,079 291,131
201 L2l 336,210 0 336,210
01 At 22l 336,210 0 336,210
OZBR& MHEs Y 56,035,000& x6H 336,210
7O FEIIE & 2A 294,422 247,697 46,725
“&8o EgolE ¥ 23F 68,800 68,800 0
201 Let24d] 53,600 53,600 0
01 At 22l 53,600 53,600 0
Ol 2el Let=EZH| 300,000& 122 3,600
OFYREIM M 20,0003 x2002 *23| 8,000
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Ouls 28 TtE ME 20,0003 200 *23| 8,000
OFZANMZZ LEL=ZH| 13,000, 000& 13,000
OFZANHZ=L Sl 5,000,000 5,000
202 4l 11,000 11,000 0
01 = LH o4 1l 11,000 11,000 0
OFZAMZZ I 11,000,000 11,000
203 YR =&l 3,200 3,200 0
03 A Z=XH R =AY 3,200 3,200 0
ORFIIE L et AIMZRYSETY|
3,200,000& 3,200
405 XHoHF S HI 1,000 1,000 0
02 =M=l 1,000 1,000 0
OdEXza TAFZLYI 10,0002 1002 1,000
ZALE S 7,660 9,600 A 1,940
201 L2l 1,200 1,200 0
01 At 22l 1,200 1,200 0
OZArztel Lek==ZH| 100,000& 128 1,200
202 odl 6,000 6,000 0
01 = LH o4 1l 6,000 6,000 0
OZAHER=E Kl 20,0003 *5H x5 128 6,000
405 XHoHF S HI 460 2,400 A 1,940
01 HatL ESFH S 460 2,400 A 1,940
Od&ED (A7) 460,000 = 1CH 460
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201 L2l 45,172 20,172 25,000
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— A& 12,0003 202+ 12& 2,880
OFZAM 22 & 21H| 25,000,000 25,000
02 =24l 6,492 6,492 0
OAolE TVl 2 11,0003 *31CH <12 4,092
O&EAN SEAE FA22 200,000 122 2,400
401 AIEHI L 201 22,000 20,000 2,000
01 A& Bl 22,000 20,000 2,000
OFA SEAIE ZHI S A 22,000,000& 22,000
405 XHoHF S HI 23,000 15,000 8,000
01 et EZFH S 23,000 15,000 8,000
OFUL S (M) 23,000,000 =1 CH 23,000
SHXNZ ZAF Y 22| 127,790 114,125 13,665
101 144 dl 30,497 26,574 3,923
04 D12t Z2XESE+ 30,497 26,574 3,923
OSHXZA 12 30,497
— S, ZARZE R
69,3503 * 11 282! «80% 17,088
— ALK& 2tel Xkt 66,8003 x 12 282 «80% 1,497
— 2% Y LHZERA 66,800 x9H x192 x80% 9,139
—4UEEE(S22X S) 27,722,400& *10% 2,773
201 ¢et24l 95,493 85,751 9,742
01 At 2t 2l 95,493 85,751 9,742
OSHZAL Let==EH| 800,000 x33| 2,400
OSHZAE 66,8003 67 x26 2 «80% 93,093
202 04 tl 1,000 1,000 0
01 = LH 4 Hi 1,000 1,000 0
OussA o ST HANHI
20,0003 x2H 25 1,000
203 ¥ S =&l 800 800 0
03 AIHF=AH 2 =AY 800 800 0
O3 SHZAMN 2= 800,000& 800
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FURNXAE 29 245t 25,600 28,600 A 3,000
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OFUNXHEH 28 43t =& 2,700,000 2,700
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760,000 *5CH 3,800
NEEA AERH Y E4Y 2H22 143,568 189, 452 A 45,884
201 L2 A 119,568 169, 452 A49,884
01 AL 22l 2,400 21,450 A 19,050
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01 A& tI 330,450 300, 150 30,300
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O=& 24 =3 A 75,0003 896 m’ 67,200
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02 23=24gHl 365,100 378,400 A 13,300
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OFAN HIANBRB 17,000,000& 12 204,000
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O&EAMAZHI 6,000,000& x12& 72,000
OZAIJIAAMNER 700,000& x12& 8,400
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1,000,000& »12& 12,000
2ETAE FANEE MU= 415,935 0 415,935
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201 ¢er24] 274,208 274,977 AT69
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150,000& »24CH =13l 3,600
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O2ExE HSXHAM(E) 5,640
=y 3,550
3e 70,000& *14CH =12 980
=g 350,000& *1CH*13] 350
=98 otolEel e 300,000 »4CH =13 1,200
- 58 &) 90,0003 +8CH*13 720
- e 300,000 = 1CH =12 300
—-sg 320
S 60,0003 *2CH*13] 120
- 5¢ 90,000 *1CH =13 90
- e 110,000 = 1CH x 13l 110
— 3= 1,770
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- 5€ 50,000& +9CH » 12 450
= 170,000 =30 13l 510
OZEX& | 3,000,000& «70CH 210,000
OZEXE BIlEA==2 3,468
— S A 60,0003 «56TH 3,360
— EJIZ M 27,000 =4TH 108
OEx+=ZHIXE A2l 3,000,000 *2CH 6,000
BHS AP (YT YBAUAD) 1,853,940 1,742,000 111,940
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—H2AEE= 155,644 ,700& *3.23% 5,028
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— =043 2,400,000,000& *4 .5% 108,000
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— &I RYEEE 77,520,000& *7.38% 5,721
- 11888s 2,400,000,000& *1.5% 36,000
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304 HBRE3S 1,086,001 984,217 101,784
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O=20HLEEHEZ 1,086,001
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04 2SI L RF=AH| 4,860 5,040 A 180
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2N
X ZH -
L= B

el

Y HD [

g7 Hg=xn
stz &8
et g2 &4

- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HDE
=8 HIE & 7,420 6,880 540
201 gBt24d| 7,420 6,880 540
01 AP 22| H| 5,800 5,800 0
O=2gIHY=E 225 ANHAXS 400,000 128 4,800
OKsS2dEd} sl 7 & a0 H&
1,000,000 13| 1,000
02 B32%H| 1,620 1,080 540
OSHNYY S HHHE LBRS
135,000 x12& 1,620
MEHE 4 52,400 52,400 0
FEEI M= 29 48,600 48,600 0
FEED MEAHFUI 48,600 48,600 0
201 gEt24dy| 18,600 18,600 0
01 AP 22| H| 1,000 1,000 0
ONMSEHAI 281 LBt=24| 1,000,000 1,000
03 A2 H| 17,600 17,600 0
OFFE) SUHE WX (R - HOIEE)
400,000 x2S =2+22 = 17,600
307 QI2t0| & 30,000 30,000 0
04 CIZ2tSHALALS B = 30,000 30,000 0
OHM?26s 2HEED| HUAUS 6,000,000 6,000
OHM14s RFEEI &32U3 6,000,000& 6,000
OHMz26a #EEI 53203 6,000,000& 6,000
OHMI253 READ| =l t]s 6,000,000& 6,000
OHN24s REEI| HOIE=SUS 6,000,000& 6,000
SHMS AL 22 3,800 3,800 0
SUIMSAIE EH & A% 3,800 3,800 0
201 gEt24Hy| 1,800 1,800 0
02 B32ZH| 1,800 1,800 0
ONMESANE 2322 150,000& 1 A x12& 1,800
401 Al HI L E0HHI 2,000 2,000 0
01 A& H| 2,000 2,000 0
OsU M==AY KX 224l
2,000,000 *1JH & 2,000
HAE B 2 4 9,840 9,840 0
HAE B35 9,840 9,840 0
HAadE Rl ¢SS 3,840 3,840 0
202 04| 3,840 3,840 0
01 2L I 3,840 3,840 0




AN 2EF HE=SIH

M Had 25 U R4
SC I PSENCE

5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OFAad Koidd &= 044l
20,0003 *4H »43| «12& 3,840
4@ dE B3 6,000 6,000 0
201 £B-2dH| 5,000 5,000 0
01 At 22l 5,000 5,000 0
OFAGLEES LE==EHl 2,000,000 *14) 2,000
OFAEXNERA =20 +¢ 30,000& x100H 3,000
203 ¥ S =&l 1,000 1,000 0
03 Al =AY R =&Y 1,000 1,000 0
O=g7 2EXNEEo3 243
20,0003 25 #23| 1,000
EFHE X 137,071,691 113,156,009 23,915,682
= 62,662,320
< 30,675,936
Al 43,733,435
HROE=S 98,904,225 94,303,404 4,600,821
= 44,786,839
< 27,578,643
Al 26,538,743
SN, ATHAE S4EH X 3,111,800 3,212,600 A 100,800
301 et A= 2,925,000 3,045,000 A 120,000
01 MEIBZE 2053 2,925,000 3,045,000 A 120,000
OUXHIIE Otsgds+Y
100,000& *1,800H x12& 2,160,000
OSMAH Edt&Eed= 300,000& «1,500H 450,000
OXAMAE S4EHS 1,000,000& »225H 225,000
OUMAE EdtEAS 2,000,000& x30H 60,000
OUAMOI&XH S4EHS
3,000,000& x10H 30,000
305 & =S 2,000 2,000 0
01 e =8 2,000 2,000 0
OOXHE At HAEH e
2,000,000& x1H 2,000
307 21201 A 184,800 165,600 19,200
06 2= 184,800 165,600 19,200
OOXH At HAEH It =
11,0003 *1,400H x12& 184,800
HAEE 0ls Helold gs&Ed3 2,000 3,000 A 1,000
307 21201 A 2,000 3,000 A 1,000
11T MISXASEX 2,000 3,000 A 1,000
OMASE Ols HEold gstEdl=s N&E 2,000
—YsrELH S 100,000& 20 2,000




2N 2
3y =2
=

el

SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2

IrotEsE K& 46,639,000 41,058,000 5,581,000
30,315,350
8,161,825
8,161,825

= N H

301 et d = 46,639,000 41,058,000 5,581,000
30,315,350
8,161,825
8,161,825

= N H

=5l =2 46,639,000 41,058,000 5,581,000
teszs N2 46,639,000, 000& 46,639,000
30,315,350

, 161,825
8,161,825

= HnH
©

HgLEEA 16,425,000 20,160,000 A 3,735,000
10,676,250

,874,375
2,874,375

= H W
no

301 2ELE A= 16,425,000 20,160,000 A 3,735,000
10,676,250
,874,375
2,874,375

= H
N

ol 23 16,425,000 20,160,000 A 3,735,000
ONdgs==X& 16,425,000,000& 16,425,000
10,676,250

,874,375
2,874,375

= N}
N

ANZtHES XI& 32,000 24,000 8,000
16,000
8,000
8,000

= N W

301 LEE A 32,000 24,000 8,000
16,000
8,000
8,000

= W

01 A28 X =062 32,000 24,000 8,000
OAZtNES K& 32,000,000& 32,000

16,000
8,000
8,000

= MW

1
o
=
02
>
I2
H
10
fu
=
o

,039,000 862,920 176,080

103,900
935,100

= M

(o]
2
e
L
HL
0z
oy

,039,000 862,920 176,080

103,900
935,100

= M

2
=
ton
T
03
Jd
1
%ﬂ
0

,039,000 862,920 176,080

OFcltd tuE2sz A& 1,039,000,000& ,039,000

—_




2N

Ha: 2RI K@
Sl AR0ES (25 & @)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
< 103,900
Al 935,100
FelHE2E 13,488,300 12,885,400 602,900
< 13,488,300
301 gtE L= 13,488,300 12,885,400 602,900
< 13,488,300
01 Ml2ZHE 6= 13,488,300 12,885,400 602,900
Feld 29| 13,488,300, 000& 13,488,300
< 13,488,300
Heold ESndd 2RSANMLH| 3,151,920 3,044,280 107,640
= 1,575,960
< 787,980
Al 787,980
307 glz2+0l & 3,151,920 3,044,280 107,640
= 1,575,960
< 787,980
Al 787,980
11T MISXASEX 3,151,920 3,044,280 107,640
O0eold EsuXd 2R3N A
3,151,920, 000& 3,151,920
= 1,575,960
< 787,980
Al 787,980
Helold nA3RAE X2 208,780 207,536 1,244
= 104,390
< 52,195
Al 52,195
307 glz2+ol & 208,780 207,536 1,244
= 104,390
= 52,195
Al 52,195
11T MISRAMSER 208,780 207,536 1,244
O0eold wnAHEXAZ XI&  208,780,000& 208,780
= 104,390
< 52,195
Al 52,195
ESUIY B0 22,360 22,312 48
= 11,180
= 5,590
Al 5,590
301 L2 A=z 22,360 22,312 48
= 11,180
< 5,590
Al 5,590
09 A HIE &S 22,360 22,312 48
OEsnid E==1= 22,360,000 22,360
= 11,180




2N

M B0t K&
©9: AROIES (29l 8)
SA - FE - BI(EA) - NRAY - By 0l &t San DS
=) 5,590
Al 5,590
Helold EsuWAl 2 K& 3,031,000 2,955,986 75,014
< 303,100
Al 2,727,900
307 21201 & 3,031,000 2,955,986 75,014
< 303,100
Al 2,727,900
11T M SRAISE EX 3,031,000 2,955,986 75,014
OQA0RI0IE SIDA HSHAH N
3,031,000,000& 3,031,000
=) 303,100
Al 2,727,900
EFUA HRMLE =0 XN & 946,952 594,106 352,846
< 473,476
Al 473,476
307 glz2tol & 946,952 594,106 352,846
< 473,476
Al 473,476
11 ALS S XAEE = 946,952 594,106 352,846
OBSWAL HMAYl =01 X
946,952,000& 946,952
< 473,476
Al 473,476
ZOHOH HOotEt EKNAIY E2 2 494,280 509,930 A 15,650
< 49,428
Al 444,852
307 glztol & 494,280 509,930 A 15,650
< 49,428
Al 444,852
11T ALSI S RAIEE X 494,280 509,930 A 15,650
OO0, YotE ERDAY S+224g
494,280,000 494,280
< 49,428
Al 444 852
CHAeled olddl X 24,000 17,800 6,200
< 2,400
Al 21,600
307 glztol & 24,000 17,800 6,200
< 2,400
Al 21,600
11T AL SXAEE =X 24,000 17,800 6,200
OWH e elddl XI& 24,000,000& 24,000
< 2,400
Al 21,600
SEDA QA X 3,158,000 1,963,400 1,194,600




2N

HHM: HFRIE XJ
©9: AROIES (29l 8)
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
= 1,579,000
& 789,500
Al 789,500
307 2iz2to| A 3,158,000 1,963,400 1,194,600
= 1,579,000
& 789,500
Al 789,500
11T AISIEXAIEEX 3,158,000 1,963,400 1,194,600
OB X AR A H| 3,158,000,000& 3,158,000
= 1,579,000
& 789,500
Al 789,500
BERNAS Se|FMH| 914,880 916,880 A 2,000
307 QI2t0| ™ 914,880 916,880 A 2,000
11T A EXAIEEX 914,880 916,880 A2,000
OEsDAY =254y
70,000 1,082 «12& 908,880
OMS=XN3SHE Ad3H Il
10, 000& *600& 13l 6,000
I olz2toi2l 0l & Xe|l& old XN 533,230 347,900 185,330
= 53,323
Al 479,907
307 giztol A 533,230 347,900 185,330
& 53,323
Al 479,907
11T A EXAIEEX 533,230 347,900 185,330
OJIE 812t e 0l E X=2l&| 2l
533,230,000 533,230
& 53,323
Al 479,907
IS It 2I01 & Z=2|€ elAHdl XIS (A 780,000 684,000 96,000
307 giztol A 780,000 684,000 96,000
11T AISIEXAIEEX 780,000 684,000 96,000
OJIA 212t 2l ol & Zele erAHdl X (A
780,000,000 780,000
Helold 849 X 654,200 590,400 63,800
307 2iz2to| & 654,200 590,400 63,800
11T AISIEXAIE EX 654,200 590,400 63,800
Oneold &49dl X< 230,000,000 230,000
BEnAa AI)2ELE X 424,200
— 1& 0] &~3E 0] BF 30,000& 600 x12& 216,000
— 34 0] &~54 0] B 50,0002 *x200H ~12& 120,000
— 530l & 70,000 x105H «12& 88,200
Helold WMw=d X& 135,980 144,160 A 8,180




2N

M B0t K&
Sl AR0ES (25 & @)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
= 67,990
< 33,995
Al 33,995
307 i+l & 135,980 144,160 A 8,180
= 67,990
< 33,995
Al 33,995
11T MISXASEX 135,980 144,160 A 8,180
Odglold nM-d XA 135,980, 000& 135,980
= 67,990
< 33,995
Al 33,995
QI2F JtEO20lE Hited K& 327,950 327,950 0
301 et a3z 327,950 327,950 0
01 MEIBE X263 327,950 327,950 0
OgIZEtENE0ld el XI&
327,950, 000& 327,950
0iel0l& Ots 2+tAaldl XI& 1,294,500 1,545,000 A 250,500
301 et a = 1,294,500 1,545,000 A 250,500
01 MEIBEE 2053 1,294,500 1,545,000 A 250,500
O&old ots2tAaldl XI&  1,294,500,000& 1,294,500
JrE et eold e XN 140,000 140,000 0
< 14,000
Al 126,000
307 21201 A 140,000 140,000 0
< 14,000
Al 126,000
11T AL SXAEE = 140,000 140,000 0
OJE Bt 0l HE=> X3
140,000, 000& 140,000
< 14,000
Al 126,000
EFEZMLH XA 139,000 139,000 0
307 21201 A 139,000 139,000 0
11T MISRASEEX 139,000 139,000 0
EFSZFosd KN 139,000, 000& 139,000
238 Heold 24l XN& 519,699 421,254 98,445
=2 259,849
< 129,925
Al 129,925
307 gl2tol & 519,699 421,254 98,445
=2 259,849
< 129,925
Al 129,925




FN: 2EF JHESTL
Ha: 2RI K@
Sl AR0ES (25 & @)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
10 AL SXNAIEEE2EH EX 519,699 421,254 98,445
O338 oegold 234l XI& 519,699,000 519,699
= 259,849
< 129,925
Al 129,925
=38 g0y a8l XA 174,000 134,600 39,400
< 17,400
Al 156,600
307 21201 A 174,000 134,600 39,400
< 17,400
Al 156,600
10 ALSISXAIEEE2EHEX 174,000 134,600 39,400
O3&2d H&lold oAdl XI& 174,000,000 174,000
S 17,400
Al 156,600
S3E 0e0ld 2g€dl IHAHEE XA 69,000 66,000 3,000
307 21201 A 69,000 66,000 3,000
10 ALl SXAIEEE2EH EX 69,000 66,000 3,000
OZ33E Heold 23t IHHEE N2
69,000,000 69,000
38 g0y 2943 N2 149,400 88,440 60,960
= 14,940
Al 134,460
307 21201 A 149,400 88,440 60,960
< 14,940
Al 134,460
10 M2 SXNANEEHES2IHEX 149,400 88,440 60,960
O338 a0l 2243 N
149,400, 000& 149,400
< 14,940
Al 134,460
ANAHAZTHAHE0E 22X 91,200 68,790 22,410
< 9,120
Al 82,080
307 21201 A 91,200 68,790 22,410
< 9,120
Al 82,080
11T MISRASEEX 91,200 68,790 22,410
OAZAZTE HelolE 2FX& 91,200,000 91,200
= 9,120
Al 82,080
JOotdE S wiAIAY| 361,740 298,924 62,816
= 180,870
< 90,435
Al 90,435




2N
X ZH -
L= B
el

(o
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
307 2Iz2to| & 361,740 298,924 62,816
= 180,870
& 90,435
Al 90,435
1A S X AIE E X 361,740 298,924 62,816
OAZIAZSE el old el2dd] X&
361,740,000 361,740
= 180,870
& 90,435
Al 90,435
AHOEE HEold 29X 248,000 143,008 104,992
& 24,800
Al 223,200
307 2Iz2to| & 248,000 143,008 104,992
= 24,800
Al 223,200
11T AISIEXAIEE X 248,000 143,008 104,992
OZHNOEE Helold X
248,000,000& 248,000
= 24,800
Al 223,200
Helold Endd s 2,000 10,000 A 8,000
301 et A= 2,000 10,000 A 8,000
09 HAIAHI EAZ 2,000 10,000 A 8,000
ONeold BEsuda = 2,000,000& 2,000
AROEE LB AH| 10,500 10,500 0
201 LBt 9| 10,500 10,500 0
01 AP 22| H| 6,000 6,000 0
OgRitER R =X b4 2H|
6,000,000& 6,000
02 2224 H| 4,500 4,500 0
OgRitERr 28 2ERZ 4,500,000& 4,500
ELBER 45 N (90 ExE2SHAE T2 )N 423,650 254,720 168,930
X&)
& 42,365
Al 381,285
307 2Iz2t0| A 423,650 254,720 168,930
= 42,365
Al 381,285
11T AISIEXAIEEX 423,650 254,720 168,930
OY90t E=Es1td Tz ) XH
423,650,000& 423,650
= 42,365
Al 381,285
el old BIJI83J] &X XA 160,904 210,408 N 49,504




2N

Ha: 2RI K@
Sl HROIES (er:@e)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2

< 48,271
Al 112,633

307 glz2tol & 160,904 210,408 A 49,504
< 48,271
Al 112,633

10 ALl SXAIEEE 2 H EX 160,904 210,408 A 49,504

oogold 3JI838J &x X

160,904, 000& 160,904
< 48,271
Al 112,633

ots=Xl XI& 37,059,118 18,185,729 18,873,389
= 17,143,573
< 2,951,533
Al 16,964,012

I8 REOs 22X NE 86,400 81,000 5,400
< 8,640
Al 77,760

301 et d = 86,400 81,000 5,400
< 8,640
Al 77,760

01 MEI2EZE 06z 86,400 81,000 5,400
OJIEf8ots 222 A& 86,400,000 86,400
< 8,640
Al 77,760

A0t NHEEEHS KA 30,000 25,000 5,000
< 3,000
Al 27,000

301 et a = 30,000 25,000 5,000
< 3,000
Al 27,000

01 MEIBZE 2053 30,000 25,000 5,000
OJtE®&0ts A& = XN& 30,000,000& 30,000
< 3,000
Al 27,000

MRS sts8s N 22,670 15,000 7,670
< 2,267
Al 20,403

301 LAz 22,670 15,000 7,670
< 2,267
Al 20,403

01 MI28E 6= 22,670 15,000 7,670
OJtge& stsgs XA 22,670,000 22,670
< 2,267
Al 20,403

JIE G0l SYL-H XA 400 500 A 100

301 et 8= 400 500 A 100




2N

Bu: 8205 K@
e OIsEX X (2 &HH)
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
01 Al E & A 452 400 500 A 100
OJIERAEOls EHEHH| A& 400,000 400
Z2A0IS 24 XY (HEs &AL gtst ZAl) 1,500,000 1,118,010 381,990
= 450,000
Al 1,050,000
301 et A= 1,500,000 1,118,010 381,990
= 450,000
Al 1,050,000
01 Al B & X 26 2 1,500,000 1,118,010 381,990
OZAOIE SAXH(HETHA Yot FA) TR
1,500,000,000& 1,500,000
& 450,000
Al 1,050,000
HAAOIE 24 I (E, 252 F4A) 165,000 147,933 17,067
& 165,000
301 LEtE A= 165,000 147,933 17,067
& 165,000
01 Al B & A 46 2 165,000 147,933 17,067
OZAOIE Z4I(E,.2, 352 54) XN
165,000,000 165,000
& 165,000
XNE0otsS4HE 249H IR (EX) 666,720 574,800 91,920
= 333,360
& 50,004
Al 283,356
307 2izto| A 666,720 574,800 91,920
= 333,360
& 50,004
Al 283,356
10 MM SAANEEHESIGHEX 666,720 574,800 91,920
OXgotsdH 294 XN& 666,720,000& 666,720
= 333,360
o= 50,004
Al 283,356
NE0lsSHE ESH2Y| 14,616 12,122 2,494
= 7,308
=} 1,096
Al 6,212
307 2I2t0| ™ 14,616 12,122 2,494
= 7,308
= 1,096
Al 6,212
10 AISIEXAIEEHE2IHIEX 14,616 12,122 2,494
OXE0tsSHH Ex582%H N
14,616,000& 14,616
= 7,308




2N

o
o
o 28I X

& ots=EX X (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
< 1,096
Al 6,212
NEotsdE ER2EH| 7,296 7,296 0
= 3,648
< 547
Al 3,101
307 glz2tol & 7,296 7,296 0
= 3,648
< 547
Al 3,101
10 AL SXAIEEE2EH EX 7,296 7,296 0
OXYotsdH EQ2%Hl XI¥  7,29,000& 7,296
= 3,648
< 547
Al 3,101
ANA0tsdEH AlZFAE 2EH X 7,200 0 7,200
307 21201 A 7,200 0 7,200
10 ALSISXAIEEE2EH EX 7,200 0 7,200
OAIZIAZAIE OF2t2E H|
600,000& 104 A +123 7,200
NEotsdE 2el2d XA 37,592 24,240 13,352
307 glz2tol & 37,592 24,240 13,352
10 AL SXAIEEE2EH EX 37,592 24,240 13,352
OXgotsdye 2234 XI& 26,592,000 26,592
OXY0otsd e detetdl X3 11,000, 000& 11,000
NEOotsdE FHAIAH X& 104,280 71,604 32,676
307 2201 A 104,280 71,604 32,676
10 AL SXAIEEE2EH EX 104,280 71,604 32,676
OXYots4dE FHAtel etddl XI&
869,000& x10¥ «12& 104,280
ANEotsdye ss&<0 XA 125,640 97,632 28,008
< 62,820
Al 62,820
307 21201 A 125,640 97,632 28,008
< 62,820
Al 62,820
10 M2 SXNANEHE2IHEX 125,640 97,632 28,008
OXgotsdH ss=<00 XN
1,047,000& *10H 123 125,640
< 62,820
Al 62,820
NEOtSHEH BAR S22 & 34,200 34,200 0
= 3,420
Al 30,780




2N
X ZH -
L= B

el

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
301 et d = 34,200 34,200 0
< 3,420
Al 30,780
01 MEI2EZE 45z 34,200 34,200 0
OXY0tsdE BAR E+=22+4 &
34,200,000 34,200
< 3,420
Al 30,780
XNGotsdE AR MSIHMAE XS 14,400 14,400 0
< 14,400
301 gt d= 14,400 14,400 0
< 14,400
01 MI2ZE 6= 14,400 14,400 0
OXY0otsdE AR HRIH&8l XA
50,0003 x24H 128 14,400
< 14,400
NEotsdE SAR HMHA(XHA) 48,600 47,440 1,160
307 21201 A 48,600 47,440 1,160
10 M2 SXNANEHE2IHEX 48,600 47,440 1,160
OXY0otsdH SAX =Scl=4]
130,000& 24 H » 128 37,440
OXNYOotsSHEH SAXR 254
11,160, 000& 11,160
AEotsd e Meggstl X 14,900 8,400 6,500
< 4,470
Al 10,430
307 21201 A 14,900 8,400 6,500
< 4,470
Al 10,430
10 ALSISXAIEEE2GHEX 14,900 8,400 6,500
OXSotsHH HMegsH XN
50,000 x298H * 13| 14,900
< 4,470
Al 10,430
ANEotsdEe 3Ll XA 15,000 15,000 0
402 RIZEX201 ™ 15,000 0 15,000
01 DIt Xt 2 AL E = (REA &) 15,000 0 15,000
OXdotsdy &3Hd X3
5,000,000& «304 & 15,000
ANEotsSHE sl XN (BX) 100,000 0 100,000
= 50,000
< 7,500
Al 42,500
402 RIZEX20l A 100,000 0 100,000
= 50,000




2N

X{ XH -
S =

e OrsEX X (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 7,500
Al 42,500
02 BIZtXIEANYEX(0OIETHH) 100,000 0 100,000
OXNEotsHH SHMHH K&
100,000,000 100,000
= 50,000
& 7,500
Al 42,500
NE0tSHE A 222 SAH X 17,500 10,080 7,420
301 LBt A= 17,500 10,080 7,420
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o M pgs Ay U
Sel: AB=eed e (S &2)
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
— S A 7,000€ *130EH 20 x 12 218,400
— W=t 2,6002 1302 20 x12& 81,120
— = 332,630 x80H 26,611
— BAMUAYHZ 20,000& *130H 2,600
09 HAIAHI EAZ 2,600 2,400 200
OAEIE2ed sietogd(23ME) HAE
20,000€ *130H 2,600
HAHH &84 4,808 4,808 0
sSAos & 4,808 4,808 0
201 et 4,808 4,808 0
01 AR 22l ] 4,808 4,808 0
OsXdHEs SR8 =24 2,500,000 2,500
OsX&ad Z2IN 44|
8,000 x44H x 1A x4 1,408
OSXHSZE AIRD|D| 9dxt2 900,000 =14l 900
JHEE 28 TH o o 2t 223,310 10,650 212,660
THHXHGH CH2H = &I 223,310 10,650 212,660
FH ol CH =4 & H| & K| 22 4,860 4,200 660
201 LBt 4,860 4,200 660
01 AP 22| H| 2,400 2,400 0
OTHOHCH & A2 22X = A H|
8,000 x20H 15! 2,400
02 22244l 2,460 1,800 660
O24=D] & STHEH KX 224
100,000 = 15CH 1,500
OMUHU A&FSGR22 80,000& ~12& 960
Mt e 28 6,450 6,450 0
201 et Y| 3,770 3,770 0
01 AP 2t 2] d| 3,770 3,770 0
OMYt 222 M&H 300& *10,0007H 3,000
OMYt =2 49 M 90, 000& *33] 270
OMHazsas 29 100,000& »5& 500
203 €2 F=&d| 2,680 2,680 0
03 Al 2 =& 2 = X H| 2,680 2,680 0
Ot A2 & SHAF AIBIZEAIA HY
140,000& »12& 1,680
OTfLtord 2ted ol2tehr A
1,000,000 14! 1,000
ZAYH 212,000 0 212,000
401 Al HI L £ 0HHI 212,000 0 212,000




FN: 2ER 2Lt
M T Y OTHOH Ol -
Chol: T L BN O X CEEEED
= - — L=
SA - BB B () - MM - BES Ol &t o San HmEET
01 A& HI 212,000 0 212,000
OZgHdl Os2 &X 2,000,000 *1069H £ 212,000
T2 13,800 6,000 7,800
Sz 13,800 6,000 7,800
Tzae 29 13,800 6,000 7,800
201 L2l 9,800 2,000 7,800
01 At 2t 2l 2,000 2,000 0
O=sdgde AN OHE FHILXS
500,000 *43| 2,000
02 =224l 7,800 0 7,800
OEZ2FELINANS g2 RERS
650,000& »12& 7,800
401 Al& I 28I 4,000 4,000 0
01 A& HI 4,000 4,000 0
Y AEQHHEXE FHIAHY
2,000,000& » 14! 2,000
Ozgx RE2A |FX2el 200,000 109 & 2,000
S Z A& 2e 10,183,384 10,388,696 A 205,312
S 23| 3,372,500 2,269,176 1,103,324
EZHE 866,500 165,000 701,500
201 £B-2d| 166,500 165,000 1,500
01 At 22l 4,000 4,000 0
OMUTHHCHH E2Z5AHl 8,000 20 25 4,000
02 232gHl 162,500 161,000 1,500
O0FZ KXl 2l 50,000
—3XsS 5-18X S 3L O RE A2
50,000,000& =14 50,000
ORMERY 28 ST
150, 000& 252 « 102! 37,500
O&LditHz ZHHl |Xl2e 75,000
— M&&H |24 45,000,000& =14 45,000
— M4 &4l Mt 30,000,000& =14 30,000
401 Al Bl 28I 700,000 0 700,000
01 A& HI 700,000 0 700,000
OO0FEZE =4 ZA 700,000,000& =14 700,000
SZRANAUESS A 1,102,000 762,016 339,984
401 AIEBIZ 28I 1,102,000 762,016 339,984
01 A& tl 1,100,000 760,000 340,000
OEERXZIZHSA(IT7H)
2,000, 000& *200a 400,000
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X ZH -
L= B

el

= - SHE|
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
PEEEVEPEEEIIEEE)
2,000, 0002 *200a 400,000
OCR2E A EL2AH(TL )
2,000,0002 *150a 300,000
03 Al& 2 H 2,000 2,016 A16
ORI BL2A 2,000,000 2,000
CRAM B2 A 802,000 842,160 A 40,160
401 Al&HI 2 200 802,000 842, 160 A 40,160
01 Al&HI 800,000 840,000 240,000
OZR2AMESSAH(1RE) 2,000,000 x150a 300,000
OER2AMESX=ZAH2R ) 2,000,0008 1502 300,000
OLR2AMELSAHEDTH)
2,000,0002! *100a 200,000
03 A& 20 H 2,000 2,160 A 160
OS2AMELZA 2,000,000 2,000
W2 AMBE FH 2 A 602,000 500,000 102,000
401 AlEHIZ 20l 602,000 500,000 102,000
01 Al&HI 600,000 500,000 100,000
OUXNZALHEFE S A1)
2,500,0002! *80a 200,000
OUXNZAMHSE I S AH27H)
2,500,000%! *80a 200,000
OUXNZAMLHEZH S AH(EHRTA)
2,500,0002! x80a 200,000
03 Al& 21 H 2,000 0 2,000
OnNXZASHEAHI 2 A 2,000,000 2,000
CRAEE X2 3,887,320 4,850,816 N 963,496
ng S22 B2 A 568,000 567,440 560
401 A& HI 2 200 568,000 567,440 560
01 Al&HI 566,000 566,000 0
OngY L 81 SABRALELIBAHIRA)
100,000,000 *1 Al 100,000
OngY L 81 SABRAELEBAH2TRA)
100,000,000 *1 Al 100,000
ORgY L 8|1 SABRAELBAHERA)
100,000,000 %4 * 14l 100,000
OFHAD BB LT AH(AB])
200,000, 00084 * 14l 200,000
OBESD HAEY 2,000,0002 #3374 A 66,000
03 Al& 2 H 2,000 1,440 560
ONTAEES X2 42 A 2,000,000 2,000
N WIHs S22 AHREH) 52,320 109,872 AB57,552
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X ZH -
L= B
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S AE2e

ZANEE g2
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SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
T AEHZXEUY 52,320 109,872 A 57,552
01 A& HI 52,320 109,872 A57,552
Oal Al & A HI 1,600,000,000& *3.27% 52,320
g SHESZA 301,000 200,000 101,000
401 Al Bl 28I 301,000 200,000 101,000
01 A& HI 300,000 200,000 100,000
Ong LHELIAH(172H)
100,000, 000& * 14! 100,000
Ong HESIZAH(27E)
100,000, 000& 14! 100,000
Ougk LHE23AH3ITRH)
100,000, 000& * 14! 100,000
03 AIE 2 0H I 1,000 0 1,000
Oung =HE=I3A 1,000,000 1,000
SRR W2 59,000 141,200 A 82,200
206 M= Hl 59,000 141,200 A 82,200
01 MHZ 4l 59,000 141,200 A 82,200
OE2Ex=IM & HdES7E 59,000
b =N 13,000& *3,000% 39,000
—JIEtE ES 20,000,000& =14 20,000
TZ2ANE FR2el 29 44,000 44,000 0
201 Let249H] 42,000 42,000 0
02 8323l 42,000 42,000 0
OAl& &l X 22l 12,000
— =4 4,800,000& = 1CH 4,800
—U=sd2ex 7,200,000 = 1CH 7,200
OZXE HHSH NIIRES
100,000& 300 30,000
203 PR =&l 2,000 2,000 0
03 Al =X A2 =& 2,000 2,000 0
OEz&el ZRFAH| 2,000,000& 2,000
=S E0l HHISA 452,000 410,864 41,136
401 Al I 28I 452,000 410,864 41,136
01 A& HI 450,000 410,000 40,000
OHUEL0IHEHIZAH(172) 120,000,000 * 14! 120,000
OH S0l HHIBAH(27 ) 120,000,000 *14] 120,000
OHUEYLOIHHI S A (BHRPHA)
120,000, 000& 14! 120,000
OHUEYL0ELIAM(172) 30,000,000 * 14! 30,000
OHESL0IELE B AH(272Y) 30,000,000 *14] 30,000




_ _ _ SHE|
SA-HB . (3H) - HEAY - B2 %Eﬁ HRZ2
QUSEOELZAH(HDPH)
30,000,000 1Al 30,000
03 Al& 20 H 2,000 864 1,136
O S0l FH 2 A 1,000,000 1,000
QU SO ZEL B A 1,000,000 1,000
CZAEE TMBA 100,000 115,000 A 15,000
401 AlIEHIZ =20 100,000 115,000 A 15,000
01 Al&HI 100,000 115,000 A 15,000
OERAIEES TMBA 70,000,000 14l 70,000
OS2AIEES HEHZBA 30,000,000 1Al 30,000
CROUFALES HHZA 551,000 551,440 A 440
401 AlEHIZ 20l 551,000 551,440 A 440
01 Al&H| 550,000 550,000 0
OEZMAIES HUSA(17H)
200,000, 0008 *14l 200,000
OEZOMAIES HUISAH(2FH)
200,000, 0008 * 14! 200,000
OERFAIES MU ZAHEDTA)
150,000, 000 * 14l 150,000
03 Al& 21 H 1,000 1,440 A 440
O 2UFAILS HHIZA 1,000,000 1,000
N AS0ISEI B2 ,200,000 1,500,000 A300,000
401 AlZHIZ =20 ,200,000 1,500,000 300,000
01 Al&HI ,200,000 1,500,000 300,000
OMZ0ISEA DHZAH(IRA)
500,000 *600m*23] 600,000
ONZ0ISEI DHZAHRRA)
500,000 *600m*23] 600,000
TXEE HNFHEEY 560,000 370,000 190,000
401 AlEHIZ 20 560,000 370,000 190,000
01 Al&H| 560,000 370,000 190,000
OABED|, BHED] RHIIEZ 80,000,000 23 160,000
OFLAEA 10,000,000 *2000 & 200,000
OUR A ST} 20,000,000 * 1070 A 200,000
t2s sxzel ,923,564 3,268,704 A 345,140
RS B4HU 472,500 503,600 A 31,100
401 AIEHIZ =20 472,500 503,600 A 31,100
01 Al&HI 470,000 500,000 A30,000
OJRE Ex=FHH (17=) 230,000,000 14! 230,000
OJ2E 2FHH(27=) 240,000,000 14! 240,000
03 Al& 21 H 2,500 3,600 21,100




5 - 4
BB - S (31) - MRAY - BES e HmEET
OJlzs E==FH 2,500,000& 2,500
g2ots EFHl 251,000 251,800 A 800
401 A& HIZ 2018 251,000 251,800 A 800
01 A& HI 250,000 250,000 0
OLets E==Ftl 250,000,000 =14 250,000
03 Al 2 THHI 1,000 1,800 A 800
OEos EFHl 1,000, 000& 1,000
ST It2s Bets EF4| 230,000 251,800 A 21,800
401 Al HIZ 201 Y] 230,000 251,800 A 21,800
01 A& HI 230,000 250,000 220,000
OBLIF NHZE EAUS E=EFH|
230,000,000 =14l 230,000
28 d2 B3| 120,864 120,864 0
401 Al HIZ 201 I 120,864 120,864 0
01 A& HI 120,000 120,000 0
OJz2e &2 E==3H| 120,000, 000& 14! 120,000
03 A& =TI 864 864 0
ONEs &2 E+FH| 120,000,000& *0.72% 864
28 ¥ 2ots 29 ,849,200 ,939,200 90,000
201 Let24d] ,699,200 ,939,200 A240,000
02 2324l ,699,200 ,939,200 240,000
Oz2E .28 HIIMNE 23
140,000,000& =128 ,680,000
OIZ2E Bots SUAE 2=
1,600,000& »12& 19,200
206 = Hl 150,000 0 150,000
01 MHZ 4l 150,000 0 150,000
OJZS U BoUS ST 2
150,000, 000& * 14 150,000
& GZH(2g7 H41m) 571,496 565,506 5,990
23l 469,316 463, 866 5,450
224l 469,316 463,866 5,450
101 144 dl 469,316 463, 866 5,450
03 RIAHAZ 2B+ 469,316 463,866 5,450
Okz&E=x¥ 394,427
—Jlzs 3,224,100 x6H 123 232,136
— ZUg A 130,000 x6H x12& 9,360
— BE S0t 3,224, 1003 x6H x115% 22,247
— Ay ExY 467,080 x6H 42 J| 11,210




2A: 2P A4
M. MSALH (2R HE1)
chel: ol gyl CEEEED
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
- ItEx4 70,000& x6H x12& 5,040
— Bt&E G 100,000& x1H x12& 1,200
S ECE
15,080& 1.5 *30A| 2t x6H x 12 48,860
—gg224+g
15,080& *1.5H *8BAl 2t x2 x6H « 12& 26,059
— X 15,080& *8Al 2t x6H x20 14,477
—MMEES 370,589,000 *3% 11,118
— S &l 8,000& x6H x20 x12& 11,520
— I =l 100, 000& 6 *23] 1,200
OJtlzs 83 74,889
—-JI=3 3,866,300& x12& 46,396
— JHZAH| 130,000& = 12& 1,560
— @& EIty| 3,866,300 *115% 4,447
—JtEsx4 40,000& x12& 480
—A2tA22<
17,980& 1.5 *30Al 2+ x12& 9,710
—5d222Y
17,9803 =1 .58 *BA| 22«12 5,179
PN 17,980& *8A| 2F*x20L 2,877
—NMMEES 70,649, 000& *3% 2,120
— 2 &l 8,000& x20 x12& 1,920
— I =4l 100, 000& * 15 x23] 200
Jl2& bl 102, 180 101,640 540
&l 102, 180 101,640 540
201 2yt 2 Y| 42,000 49,800 A7,800
01 AFR2t2l bl 42,000 42,000 0
ORAM29H| 60,000& 25 x12& 18,000
@PIE==2=3:] 80,000& x25H x12& 24,000
202 04l 45,000 45,000 0
01 2LHOHI 45,000 45,000 0
OJleg2F=&u| 150,000& 25 x12& 45,000
203 QR =&lY| 4,920 4,920 0
PEVETEEES 4,920 4,920 0
ORABIELERFAH| 410,000& *12& 4,920
405 XH&HF SHI 10,260 1,920 8,340
01 At = S F S b 10,260 1,920 8,340
OQWLHEI (THAN) 3,500,000& *2CH 7,000
OFEH(ZUHZE , UAM) 1,240,000& =2[H 2,480
OMX™EDLIEH(CHA) 240,000 =24 480
Ol & (320Xl , Al F7) 300,000 *=1CH 300
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A & 0l & AF 2 E A A
20198 & =0llah LB & X
FN: 2ER &2
Y T2 AL
¢ 23 (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
g7 d42n 17,444,862 14,050, 759 3,394,103
S Ad2e 17,044,022 13,765,759 3,278,263
S22 HH| 3,233,200 1,228,097 2,005,103
B NAFHSXF FU ALY 900,000 1,175,385 A 275,385
401 Al HIZ 2018 900,000 1,175,385 A 275,385
01 A& HI 900,000 1,175,385 A 275,385
OZFc NEFHHXT HBIAS 900,000
— S &t 900,000,000 » 14 900,000
OlHs 81 2 FHIAMY 1,093,000 16,487 1,076,513
401 Al HIZ 201 Y] 1,093,000 16,487 1,076,513
01 A& HI 1,093,000 16,487 1,076,513
OolthEs 81 22 FHlAY 1,093,000
— 24| 1,093,000, 000& 14 1,093,000
NMes =22 SAHEEZ ZHAMY 1,225,000 9,672 1,215,328
401 AIEHI L 2 0] 1,225,000 9,672 1,215,328
01 A& Hl 1,225,000 9,672 1,215,328
ONME S ¢t=22 TANAHAEZZ FHAY 1,225,000
— 24| 1,225,000, 0003 14 1,225,000
SANAHEANE(EZ) FHIAY 15,200 0 15,200
401 AIEHI L 201 15,200 0 15,200
01 A& HI 15,200 0 15,200
OZAAHEANE(E2) FHEY
4,000, 000& *3.8km 15,200
C2ANEE A2 13,810,822 12,537,662 1,273,160
S0HXIGH G E 4SS Z3A 55,590 0 55,590
401 Al Bl 28I 55,590 0 55,590
01 A& HI 55,590 0 55,590
O& A2 AHHI 1,700,000,000& *3.27% 55,590
=UWXSHHE &S S A 49,050 0 49,050
401 AIEHI L 2 CHYI 49,050 0 49,050
01 A& HI 49,050 0 49,050
O& A& AHI 1,500,000,000& *3.27% 49,050
=37 HWIEBLIA 1,041,800 0 1,041,800
401 AIEHIZL 20HEI 1,041,800 0 1,041,800
01 A& HI 1,035,500 0 1,035,500
Ogda3s7 WA B2 3A
1,000,000, 000& 14 1,000,000
O&AIE AHI 1,000,000,000& *3.55% 35,500




ZAAE 2
ZAEZS A 22 (2 &HH)
5 - 4
M- B (B H) - NSAY - B Ol At o %@ﬁ HRE2
03 Al&E 201 Y| 6,300 0 6,300
OS2 W ELZ2A
1,000,000, 000& *0.63% 6,300
S ANEE FAHE BELZ2A 1,870,000 2,004,000 A 134,000
206 M = Hl 40,000 40,000 0
01 X2 Hl 40,000 40,000 0
O2s3 Bx=XN 7Y 40,000,000 =14l 40,000
401 AlEHIZL £ 0HY| 1,830,000 1,964,000 A 134,000
01 Al&EH| 1,830,000 1,964,000 A 134,000
OB AMEE A3 B 210,000
— 253 B2 150,000,000 =14l 150,000
—J|dA&H Bx=A4| 60,000, 000& x 14! 60,000
OZ2s7 A 24 1,600,000,000& =14l 1,600,000
O2s3 B HEH 20,000
— &I &EH 10,000,000& *23] 20,000
KNotXAE(HE) & XolEE otdEAE2A 180,000 260,000 A 80,000
401 Al HI L 204 HI 180,000 260,000 80,000
01 Al&H| 180,000 260,000 A 80,000
OFII&EH 50,000,000 23| 100,000
odedH 10,000,000& *8IH A 80,000
A2 MIIEH K22 B=2A 75,000 75,000 0
401 Al HI L £ 0HHI 75,000 75,000 0
01 Al& b 75,000 75,000 0
OJITAEE B38| 75,000,000& = 14! 75,000
Bt XS (EHE) SHES BA 300,000 300,000 0
401 AlEHIZL 201 Y| 300,000 300,000 0
01 Al&H| 300,000 300,000 0
OXNSIXE(HE) tHESZ A
(2,000,000 *100a)+(4,000,000& *25a) 300,000
[BIXNZ(EHEY) AIE2 S22 B42A 1,498,600 1,312,310 186,290
206 M = dl 60,000 60,000 0
01 X2 8| 60,000 60,000 0
OXNSHXME(HE) JIMAAE BT
60,000,000 14! 60,000
401 Al HI L £ 0HHI 1,438,600 1,252,310 186,290
01 Al& H| 1,434,600 1,246,910 187,690
OXGIXE Al82 S22 3A
250,000,000 1Al 250,000
OXotXE XA EEBL3A
400,000,000 « 1Al 400,000
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P
S TZAEES |2 (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OXGtAE E4 A 200,000,000 =14 200,000
OXNGIAET(HYE) HHMESA
150,000, 000& * 14! 150,000
OXNSIAE(EHE) =HE HE S A
200,000,000 =14 200,000
OXNGIAHE(HYE) 2HS MHLSAH A2
200,000,000& *4.8% 9,600
OJIAH, A, S4 & A= E+=FH|
225,000,000 » 14! 225,000
03 A& =2 THHI 4,000 5,400 A 1,400
OXotXtE Al2E2 FXN 22 EF=SA
4,000,000& 4,000
XotEE KA 2el A 242,500 444,860 A 202,360
401 Al HIZ 2018 242,500 444,860 A 202,360
01 A& HI 242,500 443,132 A 200,632
OXotEE FXNE=S A 150,000, 000& 14 150,000
OXotEE EAEY 50,000,000 =14l 50,000
OJIdAIEE E+3H| 42,500,000& * 14| 42,500
HETAINLSARAEAS (NG (HE )= A 22l) 2,327,883 2,236,354 91,529
309 =2 2,311,883 2,211,594 100,289
01 SAt- SHIYEES 2,311,883 2,211,594 100,289
OXsIHE(HE) sA2ell
2,311,883,000& 14 2,311,883
404 SASHHEHES 16,000 24,760 A8,760
01 SAt - SEHIUSEES 16,000 24,760 A8,760
OXNGtA = (HE) sAl2eldl
16,000, 0002 14! 16,000
HYTANLSAREANL (SRSESZI] 22l) 149,549 142,752 6,797
09 MEZ 149,549 142,752 6,797
01 SAt- SHINTES 149,549 142,752 6,797
Oosls2I 22 149,549,000& 14 149,549
SRR W2 20,000 10,000 10,000
206 M= Hl 20,000 10,000 10,000
01 MHZ 4l 20,000 10,000 10,000
BT 24NN L HEERE Y
20,000,000& =14 20,000
TZANEE SRR 29 3,433,960 2,717,200 716,760
201 L2l 3,432,960 2,716,200 716,760
01 At 22l 12,200 9,800 2,400
OS2 MY 24T
150,000& = 122 *43| 7,200




S ZAIE e
SEZ2AEES FX2 (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OZx=E BHAZH XIIRE3 100,000 *50AH 5,000
02 2324l 3,420,760 2,706,400 714,360
OXNSIAE(HYE), 387 g dIIes
277,000,000& 128 3,324,000
OXNStAE(HYE), 387, usdll sS4
= 5,900,000& x123] 70,800
OdEIIAIE ot™ & EHH| 25,000,000& =13l 25,000
O3s? &ot== 23 30,0002 x12& 360
ORERS 50,000& 123 600
203 YR =&l 1,000 1,000 0
03 AIMZ=XH 2 =AH| 1,000 1,000 0
Oz el gR=2l 1,000, 000& 1,000
SZ2HEXE HH S A 313,290 302,160 11,130
401 A& HIZ 201 I 313,290 302,160 11,130
01 A& HI 313,290 300,000 13,290
OS2 EXE HHIZSA 300,000,000 » 14! 300,000
O&a Al & A HI 300,000,000& *4.43% 13,290
C2UMAIEE EHISA 149,000 149,066 A 66
401 AIEHI L 2CHEI 149,000 149,066 A 66
01 A& tl 148,000 148,000 0
OZZotdEAIEE FHHISA(17)
52,000,000& =14 52,000
OZZotdAIE2 FHHIBAHRF )
52,000,000& =14 52,000
OZ2HEAIZES FHIBAM(3RY)
44,000,000& * 14| 44,000
03 AIE 2 THHI 1,000 1,066 A 66
OLZetHAIEE ZHISA 1,000, 000& 1,000
2% ZHISA 1,850,000 1,288,560 561,440
401 A& HIZ 201 Y] 1,850,000 1,288,560 561,440
01 A& HI 1,845,000 1,284,240 560,760
2 HUIZM(17HY) 700,000,000 =14l 700,000
OE% FHISAH(27Y) 700,000,000 =14 700,000
OE& FHISAM(3FRY) 400,000,000 » 14! 400,000
Okzd I=EMA E4 45,000,000& * 14 45,000
03 AlE 2 THHI 5,000 4,320 680
OB& HHIZSA 5,000,000& 5,000
ST A2¢EH 13,000 12,000 1,000
201 Lt 13,000 12,000 1,000
02 =224l 13,000 12,000 1,000
OZs+ 24&Ed4 6,500,000& »23] 13,000




2N

B ;EAIS%EI
S TZAEES |2 (&)
SA - BB B () - MM - BES Ol &t o San HmEET
Fws2J 7FX 22 241,600 241,600 0
206 M= Hl 20,000 20,000 0
01 =8l 20,000 20,000 0
OsWsdI E=1H 400,000& *50CH 20,000
401 A& HIZ 201 Y] 221,600 221,600 0
01 A& HI 221,600 221,600 0
O|Da2I| SIR2IHl 28,0008 «500H 122 171,600
O=susZJl 2=, HAE 1,000,000& »50CH 50,000
ot& &l 343,000 210,000 133,000
A 22 343,000 210,000 133,000
StEANEE RAE=> 220,000 210,000 10,000
401 Al HI L 2 THHI 220,000 210,000 10,000
01 Al&HI 220,000 210,000 10,000
OAGHE(FH) RS AH(12SR)
200, 000& *500m 100,000
OAGHE(FH) SRS AH(272SR)
200, 000& *500m 100,000
Odt& (?H) X =8l 1,000,000 204 & 20,000
EX 24 123,000 0 123,000
401 Al HI R 2018 123,000 0 123,000
01 Al&HI 123,000 0 123,000
OAactd HHISAH EXIE 4] 123,000
— OlE S 61-281 X (E229m)
123,000,000& = 1Z X 123,000
HH2IZH (2L H42m) 57,840 75,000 A 17,160
=3l 57,840 75,000 A 17,160
JlE&l 57,840 75,000 A 17,160
201 LB-2d| 27,840 34,200 A6,360
01 At 22l 27,840 33,600 A5,760
ORNM2gHI 60,0003 x20H x128 14,400
OJle s gl 80,0003 x14H 128 13,440
202 Odl 25,200 36,000 A 10,800
01 2ol 25,200 36,000 £10,800
OJIegRFz8 150,000& »14H »12& 25,200
203 R =&l 4,800 4,800 0
04 FN2ELRZ=TH| 4,800 4,800 0
ORAN2EYE=AHI 400,000& 123 4,800




= >
N = 0 &8 AH Y H N AN
2019 & =0 & 2BHE | Al
2A: 2R SX22
HE: TAS3AY
Sel TASE ¥ S22 Z (&9 &)
_ _ _ SHE|
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
29 =x22A1 14,519,274 12,715,393 1,803,881
2 74,913
[= 94,187
Al 14,350,174
CASEALY 13,090,564 11,391,900 1,698,664
[= 60,000
Al 13,030,564
CASE ¥ S22 FHl 13,090,564 11,391,900 1,698,664
[= 60,000
Al 13,030,564
=XAES Xz 2,764,900 2,709,064 55,836
301 Yt A 2,400 1,200 1,200
12 JIEtE &2 2,400 1,200 1,200
O222X £ AHAD AIIRYS BE2
100, 0008 x224 x 122 2,400
401 Al HI 2L 200 2,762,500 2,707,864 54,636
01 Al&HI 2,755,500 2,696,500 59,000
2RI S =AU Z2AZAH(OES)
99,000,000 99,000
O2Z22X S =AW 222 AH0IHS)
92,000,000 92,000
OZZZ2X S =AU Z2AZAHMEE)
82,000,000 82,000
OZZZ2X S =AU Z22A(2YgE)
93,000,000 93,000
OZZZ2X S S Z2AZAH(2USE)
92,000,000 92,000
OZZZ2X S =AU Z2AZAHEIE)
97,000,000 97,000
OZZZ2X S =AU Z22A(22E)
93,000,000 93,000
O2ZZ2X € =AW 222 M (R0IS)
93,000,000 93,000
ODSE3E2H S =X 22| 2 AH(OFE, Ol OH
X2) 70,000,000 70,000
ODESE2H S S Z2A2AH(SU,BL
X2) 72,000,000 72,000
ODSEJE2Y S =X 22 2AH22,70!
X2) 70,000,000 70,000
OSXHARIZAHS2IC, S . HESH E2H
s) 90,000,000 90,000
OSKHZLIZA(ZXNE 23848 L 57848 &
2Y 5) 96,000,000 96,000
O ZelSAHAER =E2X)
88,000,000 88,000
OsXU ZeSAHSER =E2X)
79,000,000 79,000




2 2R sN2 D
HE: T A=A
e TAlss 2 =132 | (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
O=sXl 2elZ2AHMHEY AR2DEC2H 25
=X 2 s =X S) 92,000,000 92,000
O=sAl 2eZ2AH(sEw ARDNEC2H 25
=X 2 MEs =X S) 92,000,000 92,000
O=sXl 2eZ2AHEE~H22Z Al D28
2 s =X S) 91,000, 000& 91,000
OsAl 2eBAHEES 222X 5)
97,000,000 97,000
OZ22=1UH NIF(UEES) SX 22l S AH(E
WRF) 45,000, 000& 45,000
OsAl =S ZAHO0FE,0l0H)
100,000, 000 100,000
OsXl +SHYBANE, 22)
120,000,000 120,000
OsAl ==SHEZA(=WH, 23X
70,000,000 70,000
OsAl =S FZA(23,72200)
120,000,000 120,000
OZZ2=XUH ANEE SADEZAH(2ERF)
40,000,000 40,000
OZ2 2= AE2 S ZACIZAH(EDX )
70,000,000 70,000
O2Z2=X0 FA2e2H(0FE, Ol XIF)
18,500,000 18,500
O2Z2=Nl gizes2d9(Hs , 22 X2)
18,500,000 18,500
O2Z2=Nl gA2e2d9 (=W, 3XX2)
18,500,000 18,500
OZ2=X0 A2 29(2=2,20/XF)
18,500,000& 18,500
OZ2Z2=X0 A2 2H (BWXFP)
18,500,000& 18,500
O2A==XH SHEANLES ™HIIHZ(HHEICH)
=29 20,000,000 20,000
OZ2Z2=XN0 d&=X HH AL 100,000,000 100,000
O&FXs &aH 233X MEUALY
200,000,000& 200,000
oY, XY =sXAES EHAY
100,000,000 100,000
A& 20| 7,000 11,364 N4, 364
OZ2Z2X £ =SX0 ZeZ2AHEEXR)
3,000,000& 3,000
O=sXU 22l 3At 3,000,000& 3,000
OZ22=XNU AIE2 A 2elZ2Al
1,000,000 1,000
24 2 XH> X122 2,989,500 2,578,544 410,956
401 Al HI L 2 0HHI 2,989,500 2,578,544 410,956
01 Al& H| 2,979,500 2,567,000 412,500




=
i
2

SN 2YR =SNIEY
BE: CASSAY
S SASE ¥ SXNBL T
SA-3H-S(3AH) - MRAS - BES Off &t 24
OJNE+ ~82el SM(0FE, 0I0FS)
100,000, 0002 100,000
o244 zegs)
120,000, 0002 120,000
o244 =P
70,000, 0002 70,000
oNz4 £ FOIS)
70,000, 0002 70,000
O%Z4 +8el TAH(BDXR)
100,000, 0002 100,000
OHBUS K24+ S HFBAH(OHE,0l0HS)
135,000, 0002 135,000
OHBUSR 24+ S HYBA(ME 2LS)
90,000, 0002 90,000
OHBUSR K24+ S FHBA(LW, ITS)
80,000, 0002 80,000
OHBUR 24+ S FFBA(SI,20IS)
80,000, 0002 80,000
OJ}E4 U +HV2ABA(0IES)
70,000, 0002 70,000
O%}E4 L +EV2ABAOINS)
62,500, 0002 62,500
OX}E4 U +HV2ABA(HES)
62,500, 0002 62,500
OX}E4 L +HV2ABA(ELS)
70,000, 0002 70,000
OX}E4 U +EV2ABA(LUS)
70,000, 0002 70,000
O%}E4 L +HV2ABA(IXNS)
62,500, 0002 62,500
O%}z4 o (228)
70,000, 0002 70,000
OXdz4 2 ZAHTOIS)
62,500, 0002 62,500
OXdz4 g BOX7)
77,500, 0002 77,500
OXdz4 g BIXT)
85,000, 0002 85,000
OXdz4 g S B AH(OFE: -
) 90,000, 0002 90,000
OXdz4 g SHBAHHE -
2gs) 89,000, 0002 89,000
OXdz4 g S B A (L -
BXES) 89,000, 0002 89,000
ON24 o YHBAHES -
2018) 89,000, 0002 89,000
OXdz4 g TP E=NIE=S
PEnES 42,000, 0002 42,000




2 2R sN2 D
HE: T A=A
e TAlss 2 =132 | (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
O24 Y XFLE=2 Hols HHZ2AM(Z=I1C,
SA-HES2H T2H S) 94,000,000 94,000
OM24 Y XHFE=2 Hills SHHI22AM(EHDNS)
86,000,000 86,000
OJ24 Y XHE=2 Hills SHHZ22AMESES)
86,000,000 86,000
Ol24 Y XHE=2 Hills SHHZ22AM(MNES)
86,000,000 86,000
OM24 Y XFL=2 HillE SHHI22AM(HES)
86,000,000 86,000
OALIRE SASEZ2AHEEXR)
100,000, 000 100,000
OALRE SASelZ2AH(ED )
100,000, 000 100,000
OZFEX +SAWBAH(ZLNR)
50,000,000 50,000
OZ2=X ==2ATHZ2AH(ED X )
20,000,000 20,000
ON24 YL =SXUH HSLIE =2 AHEEX
2) 50,000, 000& 50,000
Oz & =Xt HEUSR =2t AH(E WX
2) 30,000, 000& 30,000
OJt24 Ms3td IHEZ2AH(0FE, OIOH)
50,000,000 50,000
OJt24 MEstd IHEZ2AHAHE , 2Y)
50,000,000 50,000
Otz Mstd INEZ2A (=W, 2
50,000,000 50,000
Ol M= JHEZ2AH22,7201)
50,000,000 50,000
OJI24 2= 2A 20,000,000 20,000
OJt24 el olst ol 237 ZAHO0FE, 0l
oK) 15,000,000 15,000
OJl24 el olst Oiol EPFZ2AHEE, 2=
JE X, FR00) 20,000,000 20,000
03 Al 20| 10,000 11,544 N 1,544
OJlE24 ¥ x&d A2 10,000,000 10,000
2 Etd X 22 535,060 490,236 44,824
101 e1214| 235,982 212,612 23,370
04 J|12ZtHIZ22NEES 235,982 212,612 23,370
OZ2Z22X ¢ =sX2dEaMeldae o2 167,257
—-Jl2s 80,000 x5 210 84,000
—S=S5deY 80,000& x5 »43 17,200
— X e 80,000& 5% 10 4,000
—52422H 80,000 x1.5H x5 56 33,600
— HAE S| 500,000 x5 2,500




2A: 24P sNSs3 D
M T A=STHALY
SR SASS ¥ =X CERED
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
—20AABEHS 141,300, 000& *3.23% 4,564
— &I RYEEE 4,563,990& *7.38% 337
— 2003282 141,300,000 *4.5% 6,359
- 18288 2,121
Ada0 141,300, 000& *0.65% 919
NEoHA 141,300, 000& *0.85% 1,202
—MUEES= 141,300,000& *8.9% 12,576
OZBIN ¢ =NRNSHAY 22l 08 o
HER 2 1,300
— oM = 100, 000& *5H 500
— OtA B 70,000& *5H 350
- 29 50,000& *5H 250
— OtN 2 10,000 x5&H 50
— OFM X)) 30,000& x5 150
OsXd 2o 66,905
A=) 80,000 x2H %210 33,600
—S235Ldg 80,000& »2H »43 6,880
— AX =G 80,000& 2 10 1,600
—52422E 80,000 1.5 »2H x56 13,440
— Y E S| 500,000 2 1,000
— 202 EE= 56,520,000 %4 .5% 2,544
—20AUEEHS 56,520,000 *3.23% 1,826
— A RYEE =2 1,825,596 & *7.38% 135
- 288 =s 849
A= 0 56,520,000& *0.65% 368
naorA 56,520,000& *0.85% 481
—MUEE = 56,520,000& *8.9% 5,031
O=X0 220 H™dEFER 2 520
—OtN = 100, 000& *2H 200
— OtM 3} 70,000& *2H 140
— 29 50,000& *2H 100
— ot 10,000& »2H 20
— OFM X)) 30,000& »2H 60
201 Yet2 | 35,670 35,320 350
01 At 22l ] 29,000 29,000 0
O=sXdd E22 M (AUHE LY 5)
50,000& *200H x23] 2,000
O=SMIMI & JIHES & 2t
400,000& *53| 2,000
O=Xl £=2H= 2 20 TS Al
IR NG 25,000
— A= X 500,000& «50CH 25,000
02 53294l 6,670 6,320 350




FN: 2R sXSE W
BB T A=A
@ TAss 2 =32 I (&)
SA - BB B () - MM - BES Ol &t o San HmEET
OUHE SOHOAAE 02|
100,000& = 12& 1,200
OSMIHI & JIAHE |FHI 5,470
— L= 1,970& x1,0004 1,970
—3% 1,750& 1004 =203l 3,500
206 M= Hl 36,900 54,504 A 17,604
01 =8l 36,900 54,504 A 17,604
O33=X0 22 A2 L (2L )
30,000 x10& #2435 7,200
O+=2228 HIE S PY(LYX7)
35,000& 100 3,500
OJtSnoithitl =28 +< 3,000& x1,000= 3,000
O+2H= & EANBH 2
100,000& » 160 16,000
O33=X0 22 A2F 2L (HWIH)
30,0003 x10& *24 3] 7,200
401 AIEHI L 2CHEI 226,508 185,000 41,508
01 A& Bl 226,508 185,000 41,508
OZAN 2 RANZAASAH(2LAR)
116,186, 000& 116,186
OZAN ¥ RANZISAH(ELIR)
110,322,000& 110,322
HelolE2& S AMd2Ss 2l 183,592 169,679 13,913
101 @14l 183,592 169,679 13,913
04 J12ZtHZ22 a2+ 183,592 169,679 13,913
O0glols8d sX&e o2 66,905
—Jlas 80,000 »2H 210 33,600
—ResgsE 80,0003 »2H 43 6,880
—Qx=g 80,0003 x2H 10 1,600
—52ZfxE 80,0003 *1.5H x2H «56 L 13,440
— ZE S| 500,000& x2H 1,000
— AL EEE 56,520,000& %3.23% 1,826
—EIRYEER 1,825,596% *7.38% 135
— =z EE= 56,520,000 x4.5% 2,544
- 1828z 849
AHEH 56,520,000 x0.65% 368
NEHH 56,520,000& =0.85% 481
—MTHEE = 56,520,000 *8.9% 5,031
OO0z sX2e AU BGIHE) 114,347
—Jlas 80,0003 x7H =105 58,800
- |5 80,0003 »7H 22 12,320
— QX 80,000 »7H x5 2,800
— 52 80,000 *1.5HH «7H 27 22,680




2 2R sN2 D
HE: T A=A
SR SASS ¥ =X EERED
2 S 4
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
—20AABEHS 96,600,000 x3.23% 3,121
—AJRQYEBE = 3,120, 180& 7 .38% 231
—20AHAZIEE= 96,600,000 x4 . 5% 4,347
e == 1,450
AASN 96,600,000 *0.65% 628
=10 96,600, 000& *0.85% 822
—AMEE 2 96,600,000 *8.9% 8,598
OORIOIZY RAB2IAL HHFT DY 2,340
— oM = 100,000& »9H 900
— OtA 3 70,000 9H 630
- 29 50,000& x9H 450
— OtN P 10,000 *9H 90
— OFA R 30,000& »9H 270
Hel 0| 2! S sXANE2E A2 561,000 562,019 A 1,019
401 Al HI L E0HHI 561,000 562,019 A 1,019
Al & H| 558,000 558,000 0
O0E0IZ2S S SXAAE 2l Z2AH(O0FE, Ol OH
=) 98,000, 000& 98,000
O0E0IZE S SXAE 2EZ2AM(ME, 2Y
=) 89,000, 000& 89,000
O0E0IZ2S S SXAE 22l Z2AH(WH,EX
s) 98,000,000 98,000
O0E0IZ2S E SXAE EZ2AHZ=,70
=) 89,000,000 89,000
OORI0IBY S =XA& 2ABA(RD, 25
=) 92,000,000 92,000
ONEI0I2E E SIALE 22 2AH(AT sid
=) 92,000,000 92,000
03 Al 201 Y| 3,000 4,019 A 1,019
ONE 0B S sSAAAE 22 Z2A
3,000,000& 3,000
HElolB2d & TESX 2L 290,000 181,296 108,704
401 Al HI L 2 0HHI 290,000 181,296 108,704
01 Al& B 288,000 180,000 108,000
QB0 2 S ZZZ2Z2AH(O0FE, OIOH)
72,000,000 72,000
ONBI0I2] & THZUZZAANE, 2, 4=UH)
72,000,000 72,000
O0BI0I2] & ZHZUZZAM(ER,2=,7201)
72,000,000 72,000
Q028 & XA ZAH(AE E oty 2
) 72,000,000 72,000
03 A& 2 0HH]| 2,000 1,296 704
ONelol2d & ZHE2A2BA 2,000,000& 2,000




2N

X{ XH -
S =

=X32

(-

ZHl

M- E8 e (30) - ALY - B AR 0l &t San DS
02l 0l=0lAlE RX2c 1,758,669 1,144,199 614,470
201 ¢er24l 16,900 26,500 A 9,600
02 =224l 16,900 26,500 A 9,600
ONE0l=0lAlE EIIBAM =8 S
16,900, 000& 16,900
401 AIEHIZL 2 0] 1,741,769 1,117,699 624,070
01 A& HI 1,736,769 1,112,947 623,822
OONE0l=0lH(RSAIE) SFA2LIZAH(17H)
85,000,000& 85,000
OONE0l=0IH(RSAIE) SA2LIZAHRTA)
85,000,000& 85,000
OO0E0Is0lAlE EX(WH) SA
150,000, 000& 150,000
OL=0i2l0l 32 (oteF) MAEHI ALY 261,075
— S Al 250,000,000& * 14! 250,000
— & Al E A HI 250,000,000& *4.43% 11,075
OLFHE0ZBA(ME) MHEHALE 509,747
— S A 490,000,000& =14l 490,000
— & Al E A 490,000,000 *4.03% 19,747
OkL=0eo3d(2E) & BHNAEECZ T
ZHIAE 509,747
— S Al 490,000,000 * 14! 490,000
— & Al E A 490,000, 000& *4.03% 19,747
O0e0lsolH(HBE S)A=822(1724)
68,000,000& 68,000
O0E0ls0lH(HBE M S)A=8H(2724)
68,200,000& 68,200
03 A& =2 THHI 5,000 4,752 248
O0E0Is0lH(FSIAIE) S22 3A
1,000,000& 1,000
OL=0Eosd Edl A 4,000,000 4,000
OEl0IZd S BHAAE |22 590,120 572,867 17,253
201 L Er2A | 31,500 27,677 3,823
01 AtR 22l | 6,500 3,600 2,900
OO0lglol3d 22l E28 ME(¢UHEx 5)
50, 000& +700K 12 3,500
O0eolsd & 2sAl4 =4l 3,000,000& 3,000
02 =224l 25,000 24,077 923
ONE0IZd 3tEL HA4E SN2 SIS
25,000,000& 25,000
206 M= Hl 61,000 37,000 24,000
01 M= 4l 61,000 37,000 24,000




2 2R sN2 D
HE: T A=A
e TAlss 2 =132 | (2 &HH)
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
OZ2AN4E A2 A28 2
1,750,000 x12& 21,000
OJF2etdIE ARE JIZ2ER CtED| A2E
2 20,000,000 20,000
OZHANL ZYY AHHSE 7
20,000,000 20,000
301 LBt A= 2,000 1,800 200
12 JIEtE A2 2,000 1,800 200
O0ZI0ZEY E otEAID RIIEYZ2 BE2
100,000& #2021 2,000
401 AlEHIZL 201 Y| 495,620 506,390 A 10,770
01 Al&H| 493,620 503,798 N~ 10,178
O02I0I2 S HAAIL 22| Z2AH(OFEH, OI0H)
61,000,000 61,000
O02I0I2Y & HAALE 2H2I2AHANE 2,
2=1H) 61,000,000 61,000
O02I02e & HAALE 2H2I2AHEXN, 22,
200) 61,000,000 61,000
OOZOIZE S BN 22IBAHME, #al,
o es) 61,000,000 61,000
OB =2 3tEA I ZEIZ2AH(1FH)
20,000,000 20,000
OB Z2H 3tEA SIS Z2AH2TH)
20,000,000 20,000
O0E0ZE2Y =5 3I&A gl2da ZAH 209,620
— 29 & ZAH| 50,000,000& *404 2~ 200,000
—Jlg ¥ AAZA- 200,000,000 *4.81% 9,620
03 AlE 201 Y| 2,000 2,592 A 592
ONEl 0 sd S HAAL 22| SAt
1,000, 0008 1,000
Oelol28 =5 st&A 22da Z2At
1,000, 0008 1,000
HelolE2d S 422 1,541,449 1,313,866 227,583
206 M = Hl 48,000 48,000 0
01 X2 HI 48,000 48,000 0
OZ® SR FHUNER =X S Fapel 4
DE JU(SEX,A=SH . EH5M S)
4,000,000 x12& 48,000
401 Al HI L £ 0HHI 1,493,449 1,265,866 227,583
01 Al& H| 1,493,449 1,265,866 227,583
O0go28 & A2 SH(0FE,0I0H)
360,543,000 360,543
OORZOIZE S BARRBY(2Y, U, HE)
370,692,000 370,692




2 2R sN2 D
HE: T A=A
e TAlss 2 =132 | (2 &HH)
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
Oeo22 & AU 2HE(EX,2=,3200)
387,105,000 387,105
O0g02e & FAesH (AT ial B
2F) 356,109,000 356, 109
OORIOIZY S AR HESY
19,000,000& 19,000
HelolE2d & ==324ais<2A 307,000 307,844 N B844
206 M 2 dl 50,000 50,000 0
01 =4l 50,000 50,000 0
O0eloZ2d & sMgstd 23 7¢
20,000,000 20,000
O0goI=28 & sSX(RL0) 2ESHE 7Y
30,000,000 30,000
401 Al HI L 204 HI 257,000 257,844 N 844
01 Al&H| 256,000 256,000 0
O0E0IZS = dolls L HZAH(OFE, OIOH)
44 000,000 44,000
QO0E0IZ2Y £ Halls HHZ2AME , 2,4
L) 66,000,000 66,000
O0E0IZ2S £ Halls HHI2ANER, 22,7
0ls) 66,000,000 66,000
QOUE0Z2S S Halls HHI2AH(ED, 2Z 4
I WElE) 80,000,000 80,000
03 Al 201 Y| 1,000 1,844 A 844
ONelol=2g s gals Y HZ2AF 1,000,000 1,000
BIEEEZ 222 206,000 206,476 N4T6
401 Al HIZL 2 0HY| 206,000 206,476 N4T6
01 Al&Hl 205,000 205,000 0
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Al 3,213
301 LBt A= 12,600 0 12,600
= 8,820
& 567
Al 3,213
01 Al E & A 462 12,600 0 12,600
O Al 22l AFE HI 12,600,000 12,600
= 8,820
o 567
Al 3,213
HESAAH (BXE) 110, 141 89,760 20,381
ol 2 A Y| 44 871 42,520 2,351
ol A | 44 871 42,520 2,351
101 2121 H] 44 871 42,520 2,351
03 RIAHA*ZZ2XE S 44 871 42,520 2,351
OF A2 44,871
—Je2a2 2,529,300& ~12& 30,352
— HHZAH| 130,000& 12& 1,560
— H@AE S| 2,529,300 *57 . 5%*23| 2,909




2H: ERS
MM HNMS2ATH (HE)

eel: §§§§§| B (ol &9)
SA-EB .Y (BH) - ABAY - B2 o AF o San H D2
- ItEx4 20,000& = 12& 240
b ELE

11,950& = 1. 580 *31Al 2tx12& 6,669
— X E 11,950 *8A| 2Fx25L 2,390
—AMTHEE 2 44,120,000& *1.7% 751

Jl=23 bl 65,270 47,240 18,030

Jl23Hl 65,270 47,240 18,030

201 et A | 24,960 19,200 5,760

01 AFR2 2t 2l dl 24,960 19,200 5,760
O ANMEd bl 80,000& *13H x12& 12,480
(OPIE=T=2=3:] 80,000& *13H x12& 12,480

202 (4] 23,400 18,000 5,400

01 2L Y] 23,400 18,000 5,400
OJI2g =80 bl 150,000& *13H = 12& 23,400

203 ¥R =&XH| 10,160 10,040 120

01 J|22IHRF=XY| 6,600 6,600 0
OJ#2d =8| 550,000& *12& 6,600

02 M3t R =AY 560 440 120
OFIAINNMAR =Y 40,000& *14H 560

04 ENSIHRF=EY| 3,000 3,000 0
ORN2IIRF&Y| 250,000& x12& 3,000

405 XHabF SHI 6,750 0 6,750

01 AL 2 EF SHI 6,750 0 6,750
AEEH(2LIEHMS,CHA) 1,000, 000& =4 CH 4,000

O O
=
0
0K
10

RECCHA) 250,000 = 11CH 2,750
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CETHS FeX
= DAY =

)

g Al

A

SA BB O () - NRAY - HES il
436,562 441,
< 300
Al 436,262
2 344,593 349,
< 300
Al 344,293
FOUTXIME 243 273,127 271,
< 300
Al 272,827
FOXXHH 29 97,900 100,
201 L2l 31,100 42,
01 Al 22! 8| 24,600 40,
O XXHH 24| 800,000& x12& 9,600
OFUXXKAR sl =4
0,000 x25F 123 15,000
=323l 4,500
Odug)] Xtz 1,100, 0002 »3CH 3,300
ORoFHAAHEEAZ 100,000& *12& 1,200
HAHZ S HI 2,000 2,
OFUXNXME HSLHS 2,000,000& 2,000
e 600
INESE=FSR=R=EF L] 600
OAMEAIHZ=& 600,000& 600
IRl =) 63,300 56,
HALAHI B &2 3,000 3,
OFQXXHH Ast L 3,000,000& 3,000
JIEtE &3 60,300 53,
O XXHH N3SAMAE 2AE 2HIEY
25,0003 *133Al 2+ 12 39,900
OFUXNIUE 28 XNE NESAL 2HI2Y
25,0003 x3H 272 20,400
AHaES S| 2,900 1,
01 AL ESHS 1,900
OFXZ A oF 1,900, 0002 * 14 1,900
02 = A7l 1,000 1,
O =2l XFXI Al E 10,000& =100 1,000
QRAALEX 2 37,897 37,027
2 et A | 36,527 35,927
ALS 2t el i 20,340 19,740
OUEBHASER Yyt
1,200,000& =12 14,400
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3 s FULNXNAEH 29

¢ FUXXME &85t (SH9: &)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OSEg&HLSI A2l
65,0003 30 » 128 2,340
ORIRHHALEA =AD| AXE
150,000& =2CH 128 3,600
02 =224l 16,187 16,187 0
OfERI 1,300,000& »12& 15,600
OERER3 1,630 +x305 122 587
405 XH&bF S HI 1,370 1,100 270
01 At ESFH S 1,370 1,100 270
OHlE 225 015 My (&)
130, 0002 = 1CH 130
OZFH(R2ULEHZE,UA) 1,240,000& = 1CH 1,240
= .B8E s 122,970 122,970 0
301 et d =S 122,970 122,970 0
05 SE -0 -EHEEES28E 122,070 122,070 0
Os&E=+¢ 200,000 34 143| 95,200
Os&3lo 4= 20,0003 *34F +23|«12& 16,320
Ot g 25,0003 211 %23 10,550
09 AL HIB A S 900 900 0
OIS X Xl 900,000& = 1CH 900
MWRE =252 &S| 3,000 3,000 0
301 gt d= 3,000 3,000 0
09 EAEHIE &S 3,000 3,000 0
OMRsE 252 2SI HEDL FHX =AY
8,000& x75H +53 3,000
NAMEHE A 2 1,560 560 1,000
= 300
Al 1,260
201 Let24d] 560 560 0
01 At 2teltl 560 560 0
Os NAAMIEEHEAM AT AE
20,0003 x7H 42 J| 560
301 et a =z 1,000 0 1,000
< 300
Al 700
09 AL HIZB &S 1,000 0 1,000
Os NAANAL2EE2AM SAAH X
1,000,000& 1,000
< 300
Al 700
dX1s st Hel =W 7,000 7,000 0
307 21201 A 7,000 7,000 0
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X ZH
S =

el
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P ETHS FUNXLE 23
FOTRMEH 435

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
04 DI2HHALALSE E X 7,000 7,000 0
OZFMIS JtHAHEISH AKX
7,000,000& » 14! 7,000
U0 AH 2 2,800 0 2,800
201 ¢er24| 2,800 0 2,800
01 At 22/l 2,800 0 2,800
Os X939 3lo &A=
30,0003 20 *4 3| 2,400
Os X939 2IH|(82 WA S)
400,000& 400
= BAN2Y 48,760 68,884 220,124
A2 3 48,760 68,884 220,124
201 et 48,760 61,384 AN12,624
01 At 2teltl 6,000 6,000 0
OMat2tel Let=EZH| 500,000& »12& 6,000
02 =224l 42,760 55,384 N 12,624
O2323BLAA 28,200
—dIIR=a 1,200,000& =128 14,400
~HAULHUD BS0IE 22 23
900,000& =122 10,800
—ASXA ¥ BEE 2,500,000& *1CH 2,500
—JItt s52= 500,000& 500
OAIE ZHI S X 10,560
— RoFHAAEEY S 140,000& =128 1,680
— EAMTAELSH 2l 650,000& =122 7,800
—Agotdate] = 90,000& x12& 1,080
OXt& s Xl 300,000& »12& 3,600
O3EXE M1 NIRES
200,000& = 1CH*23] 400
FOIHEHOIALS 22,706 9,270 13,436
A2 ZHISA 5,706 4,770 936
401 Al HI X 201 5,706 4,770 936
01 A& HI 5,706 4,770 936
OLEZ 331HZ & ASL0 ELSA
9,000 *634H 2= 5,706
MEEd F| 15,000 4,500 10,500
401 AIEHIZL 2 CHEI 15,000 4,500 10,500
01 A& HI 15,000 4,500 10,500
OFXLZ, d5diz2 s F2E2H Jx &
X &FFHH| 7,500,000& 23] 15,000
Mz WO AMElA 2,000 0 2,000
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CHIE FURNKME 29
D OB ALY

A B O9(SA) - NRANY - BES il 2
201 ¢er24| 2,000 0 2,000
01 ArR 22l 2,000 0 2,000

Odass F# 2,000,000& 2,000
HY2FZH (3 IHS) 91,969 89,789 2,180
el 2l 35,909 33,729 2,180

oI 2| 35,909 33,729 2,180
101 @144 dl 35,909 33,729 2,180
03 RIAHAZZ2 T2+ 35,909 33,729 2,180

OFAM2LA 35,909
—JlEs
(2,040,300 58 )+(2,064,700& 74 ) 24,655
— M Z A 130,000& =128 1,560
— S E F 0t
(2,040,300& +2,064,700& ) *57 .5% 2,361
S ETIEE PN
(9,740 x52 49,8502 »7& ) *1. 58 *x31 Al 2¢ 5,471
PN E = 9,850 *8Al 2+ x162 1,261
—dHEE S 35,308,000& *1.7% 601
24l 56,060 56,060 0
=&l 56,060 56,060 0
201 Let2d] 23,040 23,040 0
01 At 22l 23,040 23,040 0
FNE2EH 80,0003 x12H 128 11,520
OJl=s &l 80,000& x12H «12& 11,520
202 oddl 21,600 21,600 0
01 SLHOYI 21,600 21,600 0
OJIleg =80l 150,000& 12 128 21,600
203 ¥ S =&l 11,420 11,420 0
01 JI1228 2= 7,900 7,900 0
OJI228 YR =al 7,900,000& 7,900
02 3t =2 520 520 0
OFA I F =4I 40,0003 13 520
04 FEANSEYE=LH 3,000 3,000 0
ORN2EYRF=AHI 250,000& =128 3,000
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A A BHS A &l

2N BR28
3 gi2s FUANXNME=2Y
& FUXXLE Ed35

g Al

= - — SHE]|
SN HH-S(BN) - MBAY - B e 2
dxes 496,160 299,061
= 5,880
< 678
Al 489,602
FN2s FLURNXMH2Y 376,401 A 103,034
< 300
Al 376,101
FOUNXIME 43t 280,413 9,966
< 300
Al 280,113
FOURMXAEH 29 131,450 1,550
201 et 30,300 0
01 At 22l 27,300 0
OFLUXXEE 24l 900,000& »12& 10,800
OFQUXXIHE AAX 28 1,500,000 *13] 1,500
OFQUXXAAS 3loa&sad
50,000 x25% x12& 15,000
03 A2 Z Hl 3,000 0
OFXXHH HZLHEI 3,000,000& 3,000
203 PR =&l 600 0
03 Al =X A2 =X 600 0
OAEAHF=Z 600,000& 600
301 L2 LS 99,000 0
09 HALAHIEA S 2,000 0
O XXHYH Ast & Wx 2,000,000& 2,000
12 JIEtE4 = 97,000 0
OFQUXXHEH HJASAX 2AE AHI 24
25,0003 *310Al 2+ %12 93,000
OFUNIME 2SXA NASALT 22
25,0003 x 1 160 4,000
405 TtHabF S| 1,550 1,550
01 AL EFH S 1,550 1,550
OZSXTA OFHLHEH( &) 1,550, 000& =14 1,550
QAALIHE 2 28,363 4,856
201 £B-2dH| 23,988 1,381
01 At 22/l 14,340 0
OLlEHY AREX Ut
1,000,000& 122 12,000
OSESYLSANLE SR E=Hl
65,0003 +3CH+123 2,340
02 3323l 9,648 1,381
O0&RERS 750,000& x12& 9,000
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¢ FUXXME &85t (SH9: &)
- _ _ RE]
SA BB (3H) - NRAY - B Ol &F o4 %@i HRE2
OttsEe2 1,800 304 x12& 648
405 KHoHFE S HI 4,375 900 3,475
01 JHAHE 2 E F S H 4,375 900 3,475
OAMUA (THAI 250,000 =2CH 500
OX2QIAD(CHAN) 900,000 *2CH 1,800
Oolfg HA(AMR) 500,000 =1CH 500
OPIAl OIXH(CHAI) 175, 000& *9JH 1,575
s, BE 213 112,880 112,880 0
301 LBt A= 112,880 112,880 0
05 S& -0 -t EsEA= 111,980 111,980 0
Os&sd 200,000 x31H x143| 86,800
OSHEF 9 EAG 20,000& 318 x23| x12& 14,880
OBt& =& 25,0002 «206H *23| 10,300
09 HAIAHI BEAZ 900 900 0
OS&E/AS X Xy 900,000& =1 CH 900
MRet 252 S| 3,200 3,200 0]
301 et A= 3,200 3,200 0
09 HAIAHI B A2 3,200 3,200 0
OMRe 222 CHsS)| HEA 22X =4I|
8,000 x40 x10& 3,200
NEAIEHEAM 29 1,720 960 760
=} 300
Al 1,420
201 et 9| 720 960 A 240
01 AP 2t 2] H| 720 960 AN 240
Os NGAMIBHE2AM FYEFAH
20,000& *9H 42 | 720
301 et A= 1,000 0 1,000
= 300
Al 700
09 HAIAHI BEAZ 1,000 0 1,000
Os NGAMIBHEAM SHALAH K&
1,000,000 1,000
= 300
Al 700
FOIEAHMAH &H 2,800 0 2,800
201 gEt24Hy| 2,800 0 2,800
01 AP 22| d| 2,800 0 2,800
Os XNYE3 o goatd
30,000& 20X 43| 2,400
O X939 29H|(a12 HE S)
400,000 400
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SEN2Z

SA B ER(EN) - AR - BES of & o4 San HIDZ2
SENE2ZE 86,688 202,188 A 115,500
BANEE 3 84,438 79,938 4,500
201 B2 S 82,438 77,938 4,500
01 At 22l bl 3,600 5,800 A2,200
OTfétate] diet=EZH| 300,000& =12& 3,600
02 S2=4Hl 78,838 72,138 6,700
O33a= & HA 34,900
—&Jles 2,500,000 x12& 30,000
— 4otk 23 200,000& =122 2,400
—ANSXA H 288
(1,000,000 =1CH )+(900,0002 = 1CH) 1,900
—JIEt 33e= 600,000 600
@)eN=a.] 9,600
— X 800,000& =12& 9,600
OA£ &l sXH 19,638
— &It |™® === 170,000 x122 2,040
—LSt2ACHEH =2 200,000& ~12& 2,400
—sZJAcIUYE == 250,000 =123 3,000
— Ro0ZFH =2 516,500& =123 6,198
—JIEt A& F 22l 500,000& x12& 6,000
OXt& = Xl 300, 0003 »2CH =12 7,200
O3E8xg Al WIIRE3
200,000& »2CH 22 800
OFA HH&E&E A 4,500,000& =13l 4,500
OF AL AIAE o012 2E M
100,000& »22CH 2,200
405 TtatF S 2,000 2,000 0
02 S 2,000 2,000 0
OEN=0IH EXA7Y 10,0003 200 2,000
A3 NS 2,250 122,250 A120,000
401 AIEHIZ 2 I 2,250 122,250 A120,000
01 A€ dl 2,250 122,250 A120,000
OHF=EXHE =XNAEE2 FX 22
15,0003 =150 m* 2,250
O EAY 9,300 6,800 2,500
2732 ZHISM 4,300 4,300 0
401 AlEHIZ R0 8] 4,300 4,300 0
01 AlZHI 4,300 4,300 0
OO0l LI AH200042)
9,000 *2007H 2 1,800
OE=2F5= NMESAM 2,500,000& 13| 2,500
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NS FUNXHAEHZE

D EOIBEO ALY F:83)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o e 2
HEEHH FZ 5,000 2,500 2,500
401 Al HI K 201 I 5,000 2,500 2,500
01 A& Bl 5,000 2,500 2,500
O&X2s 2U o9& M= &Y
2,500,000& »23| 5,000
ASE M2y XA 8,400 8,400 0
= 5,880
< 378
Al 2,142
QlMOotE T =& 8,400 8,400 0
= 5,880
< 378
Al 2,142
SHE XEFE SSMHA XA 8,400 8,400 0
= 5,880
< 378
Al 2,142
201 Let24d] 4,200 4,200 0
= 2,940
< 189
Al 1,071
01 At 22/l 4,200 4,200 0
OAtell2el At 2| 4,200,000& 4,200
= 2,940
< 189
Al 1,071
301 et d s 4,200 4,200 0
= 2,940
S 189
Al 1,071
01 MEI2ZE+05l= 4,200 4,200 0
OAtedl 2t el At 4,200,000& 4,200
= 2,940
< 189
Al 1,071
HE2IZH(HA2S) 111,359 104,872 6,487
el 2l 39,879 37,222 2,657
ol 2| 39,879 37,222 2,657
101 @124 dl 39,879 37,222 2,657
03 RIAHAZZ2THE = 39,879 37,222 2,657
OF A2l & 39,879
—JlEs
(2,170,200 «3& +2, 191,400 «9& ) 26,234
— W Z A 130,000& = 12& 1,560
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H: HANSAAH (HR2E)

D o o
Sl ol

r

ol 2d | (&)
SA - BB B () - MM - BES Ol &t o San HmEET
— EEF Ot
(2,170,200&+2,191,400& ) *57 . 5% 2,508
- &= 120,000& 12 1,440
b ELE
(10,330 *32 +10,4202 92 )+ 1. 58 *31Al 2+ 5,802
—Qlx=g 10,4202 *8A| 2+ *x20 1,668
—dHEE S 39,212,000& *1.7% 667
Jl23&dl 71,480 67,650 3,830
JlE2ztl 71,480 67,650 3,830
201 Let24E] 28,800 26,880 1,920
01 At 22l 28,800 26,880 1,920
ORA2gH| 80,0003 x15H 128 14,400
OJlEs gl 80,0003 x15H x12& 14,400
202 oddl 28,800 27,000 1,800
01 = LH o4 1l 28,800 27,000 1,800
OJleg =80l 150,000& 16H 128 28,800
203 YR =] 10,880 10,840 40
01 JI1228Y2=4H 6,600 6,600 0
OJI228 =4l 550,000& »12& 6,600
02 Ity =2 680 640 40
ORI H R F= &Y 40,000& x17H 680
04 FXNSEHE=LH 3,600 3,600 0
ORN2IYS=AHI 300,000& »12& 3,600
405 XHoHF S HI 3,000 2,930 70
01 AL EZFH S 3,000 2,930 70
OZFH(Z2LIEHMS, L) 1,000,000 *3CH 3,000
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SIS
P 3A3s FX
CFUNXIME 243t

5
x
o
HO
02

g Al

SN P SA(EN) - MBAY - BES

=

i
2

401,810 664
= 300
Al 401,510
QIR XIME 2 317,054 557
= 300
Al 316,754
ZOIRIME 245 247,257 957
= 300
Al 246,957
ZOTRME 29 133,200 700
201 L2yl 32,700 700
01 At 2relt| 29,700 700
OFQURAME 2| 1,100,000% * 122 13,200
OZOITXIME AAK R 1,500,0002 1,500
OZDINXSS 52 HHLg
50,0008 %25 * 122 15,000
A2 bl 3,000 ,000
OFQIRXME HBLT3 3,000,000 3,000
e =Ty 600 600
N&Z=T AR =T 600 600
ONFAHEZ 600,0002! 600
Y AD 98,900 1900
BAAH 2 A 3,000 ,000
OFQRXME 218t L DF 3,000,000 3,000
JlEt e a2 95,900 1900
OFOITIZIME R SAX ZA Y24
25,000 *305A1 2+ 122 91,500
OFQINXME SN UASAK LS4
25,0002 1% #1762 4,400
THeHE S b 1,000 500
AT 1,000 ,000
OFOIRIME A 10,0002 1002 1,000
olAAD K 2 19,727 727
SN 19,727 727
NEEEIT 11,940 1940
ORIRYT AREX vt Y|
800,0002! 122 9,600
OSYZLLZI SX24H|
65,0002 *3CH * 122 2,340
02 222 Y| 7,787 7,787
032232 % MAl 7,787
— 0% 2HL3 600,0002! 122 7,200
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el

X3S

- _ _ RE]
SA - H .G (3AH) - MBAY - BES %Ei HR=2
OF=J & Hld 2= 3,000,000& 3,000
02 2324 46,800 38,400 8,400
O2322 % HA 20,600
—MIR22 1,300,000 x12& 15,600
—AdrER2 100,000& 12& 1,200
—Z2E2Y 8= 2,800,000& «1CH 2,800
—JIE 2322 1,000,000 1,000
O 24| 7,000
— & AF Lhehd] 875,000 *8& 7,000
OA&ZH SRl 15,600
— AHEAlAE ghgt2e| 2 130,000 <12 1,560
— 201 AHIAIAE EH2 170,000 x12& 2,040
— &AL AIEASE KA 22|
1,000,000 x12& 12,000
Oxg KAH] 3,600
— 221 A4l 3,600,000 =1CH 3,600
405 XHA&HF S HI 297 0 297
01 XA 2 FF S| 297 0 297
HOolAa AU (AF) 297,000 =14 297
HALEE & 3,450 118,250 A 114,800
401 AlEHIZL 2 0HY| 3,450 118,250 A 114,800
01 Al&H| 3,450 118,250 A 114,800
OsEHAMN ZHZSA 15,000 x230m 3,450
Ol EH Ol ALS 13,850 18,550 A4,700
A2 HUIZ2A 2,250 10,250 A 8,000
401 AlEHIZL 2 0HY| 2,250 10,250 A 8,000
01 Al&H| 2,250 10,250 A 8,000
O&FXNS 2198 X 2 S=sEX 8220 E&43
At 9,000 25004 2~ 2,250
MESLAE M| 11,600 8,300 3,300
401 AlEHIZL L2 0HY| 11,600 8,300 3,300
01 Al&H| 11,600 8,300 3,300
O=0tg 28 & 24 =29 o H=&d
3,300,000& x23| 6,600
OFADIS 22V CHEM L X35 AKY
5,000,000& 5,000
HER2AAH (HX3S) 84,756 79,593 5,163
A 2| 39,176 37,013 2,163
oled A | 39,176 37,013 2,163
101 e1214| 39,176 37,013 2,163
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CEB B (3H) - HRAY - BAS Ol &F o4 %Eﬁ 2t
03 2INHAZZXHE =+ 39,176 37,013 2,163
OF M2 39,176
—J=22
(2,170,200 88 )+(2, 191,400 48 ) 26,128
— dHZAH| 130,000& 12& 1,560
— HAE S|
(2,170,200 42,191,400 )57 .5% 2,508
- Is4¢ 80,000& ~12& 960
—N2aRLY
(10,330 8 +10,420& 42 )=1.581 *31 Al 2+ 5,781
— X E 10,420& *8Al 2F*x19L 1,584
— A EE S 38,521,100& *1.7% 655
24| 45,580 42,580 3,000
=&l 45,580 42,580 3,000
201 et | 17,280 17,280 0
01 AP 2t 2] H| 17,280 17,280 0
OFAM&84d9 80,000& x9H 128 8,640
(OPIE=r=2=3:]! 80,000& 9% »12& 8,640
202 o4 | 16,200 16,200 0
01 2Ll 16,200 16,200 0
OJI2g =80l 150, 000& »9H x12& 16,200
203 €2 F=&d| 9,100 9,100 0
01 J| 2 2H L R2=XH| 6,600 6,600 0
OJ|&22g9 28| 550,000& x12& 6,600
02 AAAIPAAH 2= XY 400 400 0
OFRIAtH 28| 40,000& x10H 400
04 FEASHELIFFEH| 2,100 2,100 0
ORNSIgELEF=8H| 175,000 »12& 2,100
405 XHAHFE S HI 3,000 0 3,000
01 XA 2 ZF S| 3,000 0 3,000
OgeE ZEH(2ULEMA,UA)
1,000, 000 =3CH 3,000




20199 &= =0 &F B3

g Al

SN MBS
M Me1is FUXA
¢ FUXXME &85t CEERED)
= _ — d =
SN P SA(EN) - MBAY - BES e HlDE2
ME1s 693,998 650,695 43,303
< 300
Al 693,698
MEl1s FUXXEH 2 596,383 549,218 47,165
< 300
Al 596,083
FOUXXIME 43t 366,292 376,569 A10,277
< 300
Al 365,992
FOURMXEEH 29 186,650 193,070 A6,420
201 Let24E] 33,000 33,000 0
01 At 22l 30,000 30,000 0
OFLUXXEE 2gH 1,250,000& 128 15,000
OFQNXAA sl Ba 2g
50,0003 25 «128 15,000
03 & A+Z2 I 3,000 3,000 0
OFUXXHEH HBSLESI 3,000,000 3,000
203 YR =2l 600 600 0
03 A Z=XH S =AY 600 600 0
OAZAIZ =& 600,000 600
301 LA Z 146,000 146,000 0
09 SAAHIE &S 2,000 2,000 0
OFUXXHEH As & WxF 2,000,000& 2,000
12 JIEE4 =3 144,000 144,000 0
OFUXXIEE X3 SALR 2 A AH 24
25,0003 *480A 2t 128 144,000
405 RHoHF S HI 7,050 13,470 N6,420
01 AL EZFH S 6,050 12,470 N6,420
OFQXXIMEH EHII(UH) 6,050
— ZgH 2,400,000 = 1CH 2,400
—-LESZFH 1,350, 000% =1 CH 1,350
—gA% &N 2,300,000 = 1CH 2,300
02 TN 1,000 1,000 0
O M7t 10,000& »100&A 1,000
QIAYRXHe =29 34,992 41,769 NG, TTT
201 Lt 34,992 33,869 1,123
01 At 22l 19,980 19,308 672
Ogzadd o =ZHl 1,000,000 122 12,000
O=Al & Xt 202,500 =2CH «12& 4,860
Oosgae eltl
65,0003 =401 122 3,120




MBS
A R= R

F O XX A E

2o

T o

D FOTRME 243 (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
02 =224l 15,012 14,561 451
O0ls 2ER3 2,340 *500= <123 14,040
Otts RER=S 1,800 x455 123 972
s.2E 83X 136,210 136,210 0
301 gt 4= 136,210 136,210 0
05 S& -0 -2 135,310 135,310 0
OF=FSE=y 200,000& »37H «14& 103,600
Os& sld&aA=d 20,0003 *37H 23| x12& 17,760
Ot =g 25,0003 2799 *23| 13,950
09 HALAHIE& S 900 900 0
Os&fAas g Xyl 900,000& = 1CH 900
MRE =22 eS| 4,000 4,800 A 800
301 et a sz 4,000 4,800 A 800
09 &AL HIZB &S 4,000 4,800 A 800
OMRs =222 2SI HEA FWHX =4
8,000 *50H 102 4,000
NEASEEEAM 294 1,640 720 920
< 300
Al 1,340
201 L2l 640 720 A80
01 At 22l 640 720 A 80
Os NIAAMEEEAM A3
20,0003 x8H 42 J| 640
301 et d = 1,000 0 1,000
< 300
Al 700
09 HALAHI B &S 1,000 0 1,000
Os NIASE2EEAN HAAH XA
1,000, 000& 1,000
< 300
Al 700
FUEHEHUAH 29 2,800 0 2,800
201 24| 2,800 0 2,800
01 At 2t 2l 2,800 0 2,800
Os N93sl9 3o g
30,000& x20H 43 2,400
Os X939 2gH(82 W& S)
400,000& 400
SEAN 29 212,491 165,049 57,442
F A2 3 126,216 92,924 33,292
201 Let249y| 105,216 92,924 12,292




2N MBS

M AMeE1s FUNAXHLHH 29
Sl SHA 29 CERED
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
01 At 22l bl 7,900 9,520 N 1,620
ORfA-Z2| LB FH| 400,000 128 4,800
O&=£xJ] € Hld Xz 258,300& 128 3,100
02 3524t 97,316 83,404 13,912
O2222 2 MA 24,300
— M3 1,700,000& x12& 20,400
— MolE=E 22 200,000& x12& 2,400
—XAsSIAH & BE8= 1,000, 000& *1CH 1,000
—JlEt 332= 500,000& 500
(@)E=3s] 31,200
—SAJIA 22 2,600,000& x12& 31,200
OAI& &Hl KX H]| 36,616
—Mo|etE e =2 121,000& ~12& 1,452
—ggtate| a2 132,000& = 12& 1,584
— 201AH| &2 160,000& = 12& 1,920
—s20|2e = 230,000 x12& 2,760
— 4 He)] SKAEx M= 15,000,000& 15,000
— =83 F3A 400,000& *23| 800
— HANLAS 300, 000& *43] 1,200
—FHAF R ¥ 28 HA 7,100,000 7,100
— JIEtAIE S X 400,000& x12& 4,800
Oxr&E R Xyl 400,000 x12& 4,800
OZ2EXE AMD RIIEE
200,000& *1CH 23] 400
405 Ko SHI 21,000 0 21,000
01 M =S FSHI 21,000 0 21,000
o=sx(tHA) 21,000,000 = 1CH 21,000
HALEEION A 86,275 62,125 24,150
401 Al HI L £ 0HHI 86,275 62,125 24,150
01 A& HI 86,275 62,125 24,150
O2883 2 % 23 4,200,000& 4,200
OFAMAR 2 7 HE B A 34,000,000 34,000
E Y4 &X 330,000& =161 5,280
OZ2dl 22433 Al 66,000 *170JH 11,220
OFA U3a 88 s8H &X
5,450,000& 5,450
OFA A2IE S 3Ma &= SAF
14,870,000 14,870
QA Y A S#ZI| &X A
3,530,000& 3,530
OFEAMN sXAES 22 15,000& *315m 4,725




SH: MBS
HE: NHIS FOIXAME
Sl SHA 29 CEEEED

M0
02

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2
==
£l
Ol
0y

QX0 HoAlE AX

(2,500,000 * 141 )+(500,0002 * 141 ) 3.000
01 E O ALY 17,600 17,600 0
ARD BHIBA 7,200 7,200 0
401 A& B L= H bl 7,200 7,200 0
01 Al Hl 7,200 7,200 0
OEYTHZ, EMEE S HUSL0 THAY
9,0002 800} 7,200
EEE L] 10,400 10,400 0
401 AIEHI L 2 THHI 10,400 10,400 0
01 Al Hl 10,400 10,400 0
OZYZEZ S B=MH 5,200,000 <23l 10,400
SAAHI(ME1S) 97,615 98,963 ~1,348
CEEE 39,315 37,119 2,196
oz 2l 39,315 37,119 2,196
101 eI 21| 39,315 37,119 2,196
03 RIHA2Z R E 2 39,315 37,119 2,196
SEWEEIE 39,315
-Jza
(2,233,6002 «0 )+(2,254,800% +38 ) 26,867
—ZAZ A 130,000 * 122 1,560
— Y E
(2,233,600%1+2, 254, 8002 )+57 . 5% 2,581
—NZezery
(10,6102 9B +10, 7102 «38 )*1. 564 x31Al 2+ 5,935
—oixtag 10,7102 «BAl 2+ %202 1,714
MR EE 38,657,000 *1.7% 658
=2 58,300 61,844 ~3,544
EE-E 58,300 61,844 ~3,544
201 et | 23,040 26,604 £3,564
01 At 22l bl 23,040 26,604 £3,564
O= NS 80,0002 * 122 x 128 11,520
OJlz 2l 80,0002 * 122 128 11,520
202 01 H| 21,600 21,600 0
NIERTE 21,600 21,600 0
OJl2g e a0y 50,0002 * 12 * 128 21,600
203 & 2 F & H| 11,420 11,420 0
IPEEEEEESSE 7,900 7,900 0
OJlzegyYR =T 7,900, 0002 7,900




2N
X ZH -
L= B

el

NE1S
HESAAH (ME1S)
Jl2&dl (&)
SA - BB B () - MM - BES Ol &t o San HmEET
02 A& H 2= 520 520 0
OFAJtatg =& 40,000 13 520
04 EA2IYRFLH| 3,000 3,000 0
ORN2IEYEF=AHI 250,000& 122 3,000
405 XHoHF S HI 2,240 2,220 20
01 AL EZFH S 2,240 2,220 20
OZFH(Z2LEHMA,CHA) 1,000, 000& »2CH 2,000
OHUNILIH (202X, CHAN) 240,0003 «1CH 240




20199 &= =0 &F B3

g Al

SA: HE2S
Mo NE2s FOXXM
G FOUXNXMME E43)
- - . RE!
SH-HH . B(SH) - HBAMY - B2 e
MNE2sS 432,576 451,732
T 300
Al 432,276
ME2Es FLUXXIHEH 29 349,084 371,536
= 300
Al 348,784
FOXRAE 2435 258,090 263,740
= 300
Al 257,790
FOUTXAMH & 130,940 139,540
201 LEt2 Y| 29,040 30,540
01 AFR 22l dl 26,040 27,540
OF0UXNXHEEH 234 920,000& x12& 11,040
OFUXNX A FAEFN =
50,000& 25 x12& 15,000
03 S ALZ H I 3,000 3,000
OFUXXHEH HSLHST 3,000,000& 3,000
203 R =&Y| 600 600
03 AIHZ=XH R F=XY| 600 600
OANEAZHFEA 600,000& 600
301 dBEtE A= 99,000 107,400
09 #HALAHIEA S 3,000 3,000
OFUXXHEH ASt L NE 3,000,000& 3,000
12 JIEtE &2 96,000 104,400
OFUXXIME X3S ALAH 2 A & Hl 24
25,000& *320Al 2+ x12& 96,000
405 XHo&HF SHI 2,300 1,000
01 MMM =EEFS 1,300 0
O XX 4 H He I (THAN)
1,300,000& = 1CH 1,300
02 &M+t 1,000 1,000
oM7Y 10,000& 100 1,000
ORAHEX 2 25,280 26,330
201 LEt2 Y| 23,280 23,280
01 AFR2t2l bl 14,340 14,340
OflEsy gL Ytagy
1,000,000& x12& 12,000
Osesxe=l 2t2| dl
65,0002 *30H =122 2,340
02 332Z 4l 8,940 8,940
OURAIAL 2B 8.940
—0&RHER3 700,000& 128 8,400




SN HE2S
T NB2S FRRAME 29

¢ FUXXME &85t (SH9: &)
- _ _ RE]
SA BB (3H) - NRAY - B Ol &F o4 %@ﬁ HRE2
—HEeHR S 45,0008 * 122 540
405 KHoHFE S HI 2,000 3,050 A 1,050
01 JHAHE 2 E F S H 2,000 3,050 A1,050
OAMUA (THAI 550,000 =2CH 1,100
OX2QIAD(CHAN) 900,000 =1 CH 900
s B 213 94,230 94,230 0
301 LBt A= 94,230 94,230 0
05 S& -0 -t EsSEAZ 93,330 93,330 0
Os&dsd 200,000 x26H «14 3] 72,800
OSHIYEFALLH 20,000& *x26H x23| x12& 12,480
OBt& =& 25,000 161X x23| 8,050
09 #HAIAHI BEAZ 900 900 0]
OSHE/AAS X A Xy| 900,000& = 1CH 900
MRst 222 S| 3,200 3,000 200
301 et A= 3,200 3,000 200
09 HAIAHI EAZ 3,200 3,000 200
OMNRe 222 CHsS)| HEA ETHX S 4|
8,000& x40¥ 10 3,200
NEAIEHEAM 29 1,640 640 1,000
=} 300
Al 1,340
201 et 9| 640 640 0
01 AR 22l ] 640 640 0
Os NGAMIBHE2AM FYEFALH
20,000& *x8H x4= D] 640
301 et A= 1,000 0 1,000
& 300
Al 700
09 #HAIAHI BEAZ 1,000 0 1,000
Os NGAMIBHEAM HALAH K&
1,000,000 1,000
o= 300
Al 700
FOIEHNAH &4 2,800 0 2,800
201 et 2,800 0 2,800
01 AP 2t 2] d| 2,800 0 2,800
Os XNYE3 o goatsde
30,000& 20 43| 2,400
O XNHslo 2bI(H49 HE S)
400,000 400
S EAN 29 77,494 99,796 N 22,302




2N
X ZH -
L= B

el

NB2s
NE2s FUXNIEH 249
s BAN 29

= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
EAN2F 3 70,084 56,786 13,298
201 £B-2d| 45,584 56,456 210,872
01 At 22l 7,800 11,300 A 3,500
OMat2te|] LBt~ZH| 650,000& »12& 7,800
02 =224l 37,784 45,156 ANT,372
OZ22322=2 % HAl 25,700
- &2 900,000& »12& 10,800
== A= 1,000,000& »12& 12,000
— 4otk 23 100,000& = 12& 1,200
—XANSTHAN & BEE 1,200,000 1,200
—JIEt 2322 & WA 500,000& 500
OAIE ZHIS X 8,084
— RoFHl =2 150,000& =128 1,800
—getAeid = 132,000& 12 1,584
— dHI S22 100,000& = 11CH 1,100
—JIE&t A8 ZHIS X 300,000& »12& 3,600
OZ2EXE Sl 300,000& =122 3,600
OZ2EXE AL IIRES
200,000& = 1CH *23] 400
405 TtobH S| 24,500 330 24,170
01 AL EFH S 24,500 330 24,170
O3SXH(UA) 21,000,000 = 1CH 21,000
O15 UJAA HHSII(UH) 3,500,000 «1CH 3,500
EAEZMHL 7,410 43,010 A 35,600
401 Al HI L 2 THHI 7,410 43,010 ~35,600
01 A& HI 7,410 43,010 A 35,600
OFMN A72 E+3A 6,000,000 6,000
O&EAMN sKNAE2 22 15,000& 94 m* 1,410
ZQIE O ALY 13,500 8,000 5,500
282 ZHISA 4,500 4,500 0
401 Al HI L 2 bl 4,500 4,500 0
01 A& HI 4,500 4,500 0
Oodl2e0l E43 A 9,000 *5000H 2 4,500
MBS FZY 7,000 3,500 3,500
401 Al Bl 28I 7,000 3,500 3,500
01 Al gl 7,000 3,500 3,500
Ol & s M= 3,500,000& »23] 7,000
MEZD oA A 2,000 0 2,000
201 Let2dE] 2,000 0 2,000




2N MB2S
M Ne2s FULNXMUEH 29

9l FOIEOAY (el @2)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 At 22l 2,000 0 2,000
HEZH P2 2,000,000& 2,000
HE2HZHI(ME28) 83,492 77,682 5,810
ol 2 gl 37,082 35,102 1,980
ol 2AH| 37,082 35,102 1,980
101 @144 dl 37,082 35,102 1,980
03 RIAHAZ 2B+ 37,082 35,102 1,980
OFAM2LA 37,082
—Jlz2s
(2,106,900 10’ )+(2, 128,000 x2& ) 25,325
— W Z A 130,000& =122 1,560
— ZE S| 2,106,900 x115% 2,423
—NLaRLY
(10,040 x10&+10, 1403 »2& ) 1. 581 *31Al 5,612
2t
— Q=g 10, 140& »8Al 2t+19 1,542
—dHEE S 36,462,000& *1.7% 620
Jl23&dl 46,410 42,580 3,830
JlE2&l 46,410 42,580 3,830
201 Let2d] 17,280 17,280 0
01 At 22l 17,280 17,280 0
ORN2gHI 80,000& x9H 12 8,640
OJlEs gl 80,000& x9H » 122 8,640
202 044l 16,200 16,200 0
01 = LH o4 1l 16,200 16,200 0
OJleg =80l 150,000& 9H »12& 16,200
203 ¥ S =&l 9,100 9,100 0
01 I 22 E2=4H| 6,600 6,600 0
OJI228 =2l 550,000& = 12& 6,600
02 A H R =X 400 400 0
O INLH R F= &Y 40,000& x10H 400
04 FENSEHE=LH| 2,100 2,100 0
ORN2IYRF=AHI 175,000& = 12& 2,100
405 RHoHF S HI 3,830 0 3,830
01 AL EZFH S 3,830 0 3,830
OMRE BFE(Z2UEHZE UHH)
1,240,000& »2CH 2,480
OLE=ZFH(UH) 1,350,000 =1 CH 1,350




N = 0l & At & M A

20199 &= =0 & LS &F

A 0l0H1S

gz 0loj1s =2 X

5
x
m
HO
02

¢ FUXXME &85t CEERED)
- _ _ RE]
SA BB (3H) - NRAY - B Ol &F o4 %@ﬁ HRE2
OlOH1= 476,229 535,431 AN 59,202
= 300
Al 475,929
OlOl1Es F=CXXAHEH 24 383,660 443,999 A 60,339
o= 300
Al 383,360
FOIXXAHE EH3 291,124 274,303 16,821
=} 300
Al 290,824
FOXXNAH 24 135,700 126,640 9,060
201 et 36,000 34,800 1,200
01 AP 2t 2] H| 31,800 31,800 0
OF0XXAE SHH| 1,000,000 x12& 12,000
OFQRXME AAX ME(2I18)
1,200, 000& 43| 4,800
OFANXIAA 810 &HA +g
50,0002 %253 x12& 15,000
03 &AL E H| 4,200 3,000 1,200
OFoXXNMEH =EBESLET 3,000,000 3,000
OSMZx2dH 300,000& 43| 1,200
203 &R F & 600 600 0
03 Al ZH =& 2 5 X H| 600 600 0
OAEAIZHF=A 600,000 600
301 et A= 89,000 89,000 0
09 SHAIAHI B2 A2 3,000 3,000 0
OFUXXMEH AS L NF 3,000,000& 3,000
12 JIEtE2 &= 86,000 86,000 0
OF0XXAE KNSSAX 2 A AHEA
25,000 & x280A| 2tx12& 84,000
OFQUXNXIME 2 XS XSALA A UHE4
25,000€ 12«80 2,000
405 XH&HF S HI 10,100 2,240 7,860
01 JML = EF S HI 9,100 1,240 7,860
OHICIREZZ2HE HNE(MHA) 6,000,000 10CH 6,000
OFCUIXNME HBAMA HAEH(L2LIEHEZE,
CHA) 1,100, 000 =x2CH 2,200
OFQUXXHE IIAE SR (O KA
900,000& 900
02 = A 7| 1,000 1,000 0
OFQXXHEH A 1,000
—SAMOIHE 2] 10,0008 *30& *23| 600
—0HHUS Mol SHWA
10,0008 20 *23| 400




VR RES
0lHS FUXNXLE 23
CFUNXIME 243t

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o e 2
QRAALIH 2 32,944 28,183 4,761
201 £B-2d| 25,344 23,703 1,641
01 At 22l 13,680 14,520 A 840
ORIYSE AREX Uut:gY|
1,000,000& 1228 12,000
OSEgE&ELSI A2 =4
70,0003 *2CH+128 1,680
02 =224l 11,664 9,183 2,481
03323 % HA 11,664
—0sRERS 900,000& »12& 10,800
— USRS 1,8002 %4021 128 864
405 TtobFH S| 7,600 4,480 3,120
01 et EZFH S 7,600 4,480 3,120
OSEsZLSII(UA) 7,600,000 = 1CH 7,600
s.0E 83X 113,480 113,480 0
301 et a3z 113,480 113,480 0
05 8% -0 -tHESE43 112,580 112,580 0
os&d=¢ 200,000& x31H x143] 86,800
Os&3lo &2 20,0003 *31H*23|«12& 14,880
Oogta =g 25,0003 *218H #23| 10,900
09 SALAHIEA S 900 900 0
Os&HUIE X Yl 900,000 «1CH 900
MRe =52 eS| 4,000 4,800 A 800
301 et d s 4,000 4,800 A 800
09 HALAHIEA S 4,000 4,800 A 800
OMRse =22 2SI HEL FWHX =S4
8,000& x50 «10& 4,000
NEA2EZEAN 29 2,200 1,200 1,000
< 300
Al 1,900
201 £B-2dH| 1,200 1,200 0
01 At 22l 1,200 1,200 0
Os NAAMAZHEAN 2AFH+H
20,0003 x15H 42 J| 1,200
301 gt d= 1,000 0 1,000
< 300
Al 700
09 SALAHIEA S 1,000 0 1,000
O NAANASEE2AM BAAH X
1,000, 000& 1,000
< 300
Al 700




2N

X ZH
S =

el

oloH1s
D 0lois
FOXXIME &4 35

FOUXXLEH 29

SA B ER(EN) - AR - BES of & o4 San HIDZ2
FeFOHOAMN =29 2,800 0 2,800
201 £et23E | 2,800 0 2,800
01 At 22l bl 2,800 0 2,800
Os X3l godgsag
30,000& 20 43 2,400
Os XN9go 22t (82 HH &)
400,000& 400
SEN2Z 71,516 112,676 A 41,160
EMN2E 3] 50,436 71,676 A21,240
201 2Bt2 | 50,436 51,676 A 1,240
01 At2 22l b 7,260 10,300 23,040
OTfétate] Ldiet=EH| 300,000& x12& 3,600
O&F=J1,3JI8&J, st &H0 gxtag 3.660
—F®A ¥ BIIBHI YRE
45,000 50« 128 2,700
— St AHIH X2 20,0003 »4CHx 12 960
02 329l 43,176 41,376 1,800
O332= & HA 15,800
—&Jles 1,000,000 x12& 12,000
—dol=E 23 100,000& ~12& 1,200
—ANSTHA & 282 2,000,000& 2,000
—JIEt 3323 % HMA 600,000 600
OAIZ2&dl |XHl 12,576
—dojorE e s+ = 88,000 x12& 1,056
— gt g 110,000& =122 1,320
— R0 170,000& = 12& 2,040
— AN E AMEE FX22H]
300,000& =12& 3,600
— A A8 & eI A 3,000,000 12| 3,000
— =52 34 & |X2elHl 55,0008 «12E 660
— el NE € SR
100,000& =9CH 900
Oxtg =Xl 300,000& »1CH 122 3,600
Od=H| 900,000& =123 10,800
O3EXE At TIIRE=
200,000 = 1CH »22 400
=PI =D ol 21,080 27,500 A6,420
401 AlEHIZ R0 8] 21,080 27,500 26,420
01 Al&HI 21,080 27,500 A6,420
OBM 272 B3 AM 20,000,000& 20,000
OFA =XAE |2l 15,000& »72m’ 1,080
F O HO AHY 21,020 57,020 236,000




A 0l0H1S
3 OIS =2 AXMEH 29

cHel: FDIBOAY (el:de)
SA - BB B () - MM - BES Ol &t o San HmEET
28 ZBISA 7,020 29,020 A 22,000
401 Al HI K 201 I 7,020 29,020 A 22,000
01 A& Bl 7,020 29,020 A 22,000
O0lI0H1Es 2 ASL0l EL3A
9,000 *780H 2 7,020
MEEd H| 12,000 8,000 4,000
401 AIEHI L 20 12,000 8,000 4,000
01 A& tl 12,000 8,000 4,000
ootz & A= FZMAAZ
6,000,000& »23] 12,000
MeEtZ 2 HH MBI 2,000 0 2,000
201 Let2d] 2,000 0 2,000
01 At 22l 2,000 0 2,000
odazss ¢ 2,000,000 2,000
HY2HZHI(0I0H1S) 92,569 88,918 3,651
el 2l 38,849 36,718 2,131
ol 2| 38,849 36,718 2,131
101 @14l 38,849 36,718 2,131
03 RIAHAAZZRE > 38,849 36,718 2,131
OF A2 & 38,849
—Jles
(2,149, 100& = 1& )+(2,170,200& 1€ ) 26,022
— ZWHZ A 130,000& »12& 1,560
— Y4B S|
(2,149, 100& +2, 170, 200& ) *57 . 5% 2,484
—JtE=E 60,000& 123 720
S EEECE
(10,2303 *12+10,330& x 118 ) *1 . 581 «3 1Al 5,760
2t
— XY 10,3302 *8Al 2t %20 1,653
—dTHEEZ 38,199,000& *1.7% 650
JlE &l 53,720 52,200 1,520
JlE&l 53,720 52,200 1,520
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OAMEANH FrES 600,000 600
301 et A= 114,000 114,000 0]
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25,000 x375A| 2tx12& 112,500
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09 AL HI B A S 1,450 1,450 0
OS&HAIE X Xl 1,450,000& = 1CH 1,450
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301 et A3z 4,000 4,800 A 800
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OMRe =2 &SI HEL WA =4
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Al 1,260
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< 300
Al 700
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201 Let2d] 2,800 0 2,800
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O at2te] Lek==ZH| 800,000& »12& 9,600
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1,650,000 +550,000& 2,200
OAl&E & HI KX Y| 15,252
—EA Y AIDE A 22|
300,000& x12& 3,600
— 201 HHIAIAE L Z2EFAIAE 22ld]
290,000& x12& 3,480
—s2AJ el =2 143,000& ~12& 1,716
— &It Al =S 156,000& »12& 1,872
— g === 132,000 x12& 1,584
— W) X 22yl 1,000,000& *x3& 3,000
OFAI 28 & WHE HA 3,000,000& =14l 3,000
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01 AL 2B F S| 21,000 0 21,000
OZ2x (A 21,000,000 =104 21,000
HALEHE N A 195,525 5,300 190,225
401 Al HI L 204 HI 195,525 5,300 190,225
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OEHPEF AL WHLEBED] T X 2 Ab
140,000, 000& x 14! 140,000
OEHPEF Al WHLEBED| M D] 2 Ab
21,000,000& = 14! 21,000
OXGotEXE &I|Z2A 20,000,000 = 14! 20,000
OF0XXHEH 2,35 LEDH S D H ZAt
230,000 x55JH 12,650
O=sXAE A2l 15,000 x125m 1,875
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A2 HUIZ2A 7,920 7,920 0
401 AlEHIZL 2 0HY| 7,920 7,920 0
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101 @124l 38,583 35,928 2,655
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< 300
Al 440,795
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09 SAAHIE &S 3,000 3,000 0
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301 LEtE L= 127,050 127,050 0
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Os&3slo 42 20,0008 x35% <23 122 16,800
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HM2AAH (R01S) 126,092 129, 148 N 3,056
oA 2HH| 75,392 70,968 4,424
oled A Y| 75,392 70,968 4,424
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01 At 22l 30,000 31,500
OFLUXXEE 24l 1,250,000& 128 15,000
OFUNIALS slolaasg
50,0003 x25%F 123 15,000
SHAHZ S HI 4,000 4,000
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LotE A= 147,600 147,600
HALAHIE &= 3,000 3,000
OS4&ZQAXXME 28 L JHZA B2
3,000,000 3,000
JIEtE &S 144,600 144,600
OFUXXIEE X3 SALR Z2AF AH 24
25,0003 482 A1 2t 128 144,600
AHebEH S H| 240 0
A E S FH S 240 0
OZEHWA ZLIEH () 240,000& »10H 240
= fHdel 22 24,890 28,810
usr2 | 22,740 22,740
AtS 22l 14,340 14,340
OLHEE HE= ZHl  1,000,000& 128 12,000
Osgsgesol 2l i
65,0003 «3CH+123 2,340
232%H4| 8,400 8,400
O0ls 2ERI 700,000& x12& 8,400
AHebE S| 2,150 6,070
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Os KNEAMIBHEOAM SHALAH K&
1,000,000 1,000
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